Exercise 16. Learn the following words and word combinations to text 3.

estimate - OL[IHKA

set - KOMIUIEKT, HaOip
pithy - CTHCITUH, 3MICTOBHHUIA
all-inclusive - Take, 1110 BKJIIOYAE B ceOe Bce
resource allocation - pO3MOILI pecypciB
share - aKIIis, Iai, yacTuHa
contend - CTBEP/IKYBaTH
subsidiary - IpyrOpsAHUN
appropriate - HAJICKHUH, TOpEUHU
relevant - BiAmoBigHUHA

redo - mepepoouTH

Exercise 17. Read, translate and give the gist of text 3.

Text 3. What is accounting?

Accounting contains elements both of science and art. The important thing is that it is not merely a
collection of arithmetical techniques but a set of complex processes depending on and prepared for
people. The human aspect, which many people, especially accountants, forget, arises because:

1. Most accounting reports of any significance depend, to a greater or lesser extent, on people's
opinions and estimates.

2. Accounting reports are prepared in order to help people make decisions.

3. Accounting reports are based on activities which have been carried out by people.

But what specifically is accounting? It is very difficult to find a pithy definition that is all-inclusive
but we can say that accounting is concerned with:

The provision of information in financial terms that will help in decisions concerning resource
allocation, and the preparation of reports in financial terms describing the effects of past resource
allocation decisions.

Examples of resource allocation decisions are:

Should an investor buy or sell shares? Should a bank manager lend money to a firm?

How much tax should a company pay?

Which collective farm should get the extra tractor?

As you can see, accounting is needed in any society requiring resource allocation and its usefulness
is not confined to 'capitalist' or 'mixed' economies.

An accountant is concerned with the provision and interpretation of financial information. He does
not, as an accountant, make decisions. Many accountants do of course get directly involved in decision
making but when they do they are performing a different function.

Accounting is also concerned with reporting on the effects of past decisions. But one should
consider whether this is done for its own sake or whether it is done in order to provide information which
it is hoped will prove helpful in current and future decisions. We contend that knowledge of the past is
relevant only if it can be used to help in making current and future decisions, for we can hope that we
shall be able to influence the future by making appropriate decisions but we cannot redo the past. Thus
the measurement of past results is a subsidiary role, but because of the historical development of
accounting and, perhaps, because of the limitations of the present state of the art, 'backward looking'
accounting sometimes appears to be an end in itself and not as a means that will help in achieving a more
fundamental objective.

Exercise 18. Translate into Ukrainian:

a collection of arithmetical techniques, a set of complex processes, accounting reports, to a
greater or lesser extent, people’s opinions and estimates, to carry out activities, a pithy definition, all-
inclusive definition, the provision of information in financial terms, the effects of past resource allocation
decisions, to buy or sell shares, to lend money to a firm, to pay taxes, interpretation of financial
information, to get involved in decision making, to perform a different function, for somebody’s own
sake, to prove helpful, to make appropriate decisions, to be a subsidiary role, to achieve a more
fundamental objective, “backward looking” accounting.

Exercise 19. For each of the words below, choose the meaning which best shows how it is used in
the text. Look at each word’ s use in the text before you answer.



The word ‘complex’ means:
a) different;
b) confusing;
c) complicated;
d) unusual.
The word 'pithy" means:
a) accurate;
b) short;
c) understandable;
d) comprehensive.
The word 'provision’ means:
a) providing;
b) researching;
c) producing;
d) organization.
The word combination ‘for its own sake’ means:
a) to provide work;
b) for one person / company only;
c) to solve problems;
d) for no other purpose.
The word ‘subsidiary’ means:
a) less important;
b) different;
c) vital;
d) equally important.
The word combination ‘state of the art” means:
a) technology;
b) government controls;
¢) knowledge and techniques;
d) understanding.

Exercise 20. The statements below express the main ideas of the last paragraph. Number these
statements so that they are in the same order as the ideas in the text. The first one is given for you.

Statement
a) Financial information about the past is only useful if it
helps future decisions.
b) The history of accountancy has made it appear to
concentrate on the past.
¢) Accounting can indicate the results of past actions.
d) Showing the financial results of past actions can be an
aid to decision-making.
e) Showing the financial results of past actions can be just
to record what happened.
) Describing the past is a less important role of
accountancy.
g) We can affect the future but we cannot change the past.

Order

Exercise 21. Choose the correct answers to the questions.
1. How many reasons does the author give to support the idea that accounting involves a human

element?
a) one;
b) two;
C) three;
d) four.

2. Which of the following reasons does the author give as showing human influence on accounting?

a) accounting summaries describe human action;
b) accounting systems are artificial creations;



c) accounting is affected negatively by human judgment;

d) accountancy is based on the subjective ideas of individuals.

3. In the definitions of accounting given in the text, which of them are said to be its two main
functions?

a) providing general information to aid immediate decision-making;

b) providing financial information to help with the future division of resources;

¢) providing financial information that will ensure that decisions made are correct;

d) providing financial information to show the results of past use of resources.

Exercise 22. Discuss the following items concerning accounting process.

1. What do you think are the main purposes of accounting? 2. Does accountancy only
describe the past or is it useful in dealing with the future? 3. Is accounting completely objective or does it
involve subjective judgments? 4. Is accountancy equally important for all types of economic systems? 5.
If true, does this mean that only one type of accounting system is correct or that the same system of
accounting should be used in all economic systems and countries?

Exercise 23. Learn the following words and word combinations to text 4.

bookkeeping

double-entry
bookkeeping
receipts

record

record-keeping
statement

financial statement
journal

ledger

general ledger

balance the ledger

posting

post the journal into the
ledger

ledger-posting

draw up a balance

trial-balance

debit

debit account

debit of an account
debit balance
debit (to an account)

credit

credit account

credit balance

Oyxranrtepis, BeJieHHs (piHaHCOBOI
JIOKYMEHTAIli{

cUCTeMa OyXrajaTepchKoro oOiKy 3
MHOABIMHUM 3aCOM

TPOIIOB1 HATXOKCHHS, BUPYIKA,
JIOXOITU

n.['reko:d] 3amuc, peecrparis
v.[ri'ko:d] 3anmcyBaTH, peecTpyBaTi
BEIIEHHS 00Ky, 00K

3BIT, BiZJOMiCTb, KOIITOPHC
(hiHAHCOBHIA 3BIT

OyXTanTepChbKUI XKypHAJ, PEECTP,
BiIOMiCTh

OyxranTepchka KHHUTA, OyXraaTepChKHiA
peectp

3arajibHa OyXraJiTepchka KHHTa
30ayancyBaTH OyXTanTepchKi KHUTH
MEPEHECEHHS B OyXTalITePChKY KHUTY
MEPEHOCUTH KYPHAIbHI 3aIHUCH B
TOJIOBHY KHUTY

3aIiC B TOJIOBHY OyXTalITePChKy KHUTY
3BOMUTH (TTiIOMBaTH) OaslaHC
TorepeIHii OyXranTepchKkuii OanaHc
nebet (po3xia, BUTPATH)

Ne0EeTOBHUI PaxyHOK (3amuc y JiBii
YaCTUHI paxyHKY, KU MOKa3ye
3a00proBaHiCTh OpraHi3aiii)

nebeT paxyHKy (CITUCaHHS KOIITIB 3
PaxyHKy)

ne0eToBe callb0, 1e0ETOBUM OalaHc,
MO3UTUBHE CAJTBJI0

nebeTyBaTH, 3alMCyBaTH, 3aHOCUTH B
neder

KpemuT (Cyma, sSIKy 3aMuCyIOTh Ha
MPHUXOJ B TIPABY YaCTHHY PaXyHKY)
KPETUTOBHM paxyHOK (3amuc B MpaBiit
YAaCTUHI PaxyHKY, siKa MOKa3ye MPUXO]
AKTHUBY)

KpEIUTOBE CalbJ0, KpeAUTOBUHN OanaHc,
HEraTHUBHE CaJIbJI0



credit (to an account) - KpEOMTYBaTH PaXxyHOK (3aIUCyBaTh
CyMy B KPEIIUT PaxyHKY)

dual impact - MOABIHHUI BIUINB

interrelated aspects - B3AEMOIIOB’s3aHi aCIEeKTH

Exercise 24. Read, translate and give the gist of text 4.

Text 4. Bookkeeping as Part of Accounting Cycle

For management of any company to be efficient, extensive and accurate information concerning
receipts and payments, assets and liabilities, depreciation of assets and other data about company status
are required. Such information being obtained mainly from different records, additional funds and time
should be invested in bookkeeping and accounting system.

In general, accounting and bookkeeping mean identifying, measuring, recording economic
information about any business, bookkeeping being considered the preliminary stage and part of the
larger field of accounting.

The task of a bookkeeper is to ensure the record-keeping aspect of accounting and therefore to
provide the data to which accounting principles are applied in the preparation of financial statements.
Bookkeeping provides the basic accounting data by systematical recording such day-to-day financial
information as income from the sale of products or services, expenses of business operations such as the
cost of the goods sold and overhead expenses such as a rent, wages, salaries.

Accounting principles determine which financial events and transactions should be recorded in the
bookkeeper's books. The analysis and interpretation of these records is the primary function of
accounting. The various financial statements produced by accountants then provide managers with the
basis for future financial planning and control, and provide other interested parties (investors, the
government) with useful information about the company.

Modern accounting system is considered to be a seven-step cycle. The first three steps fall under
the bookkeeping function, such as: 1) the systematic recording of financial transactions; 2) the
transferring of the amounts from various journals to general ledger (also called "posting step™); 3) the
drawing up of the trial balance.

Record keeping of companies is based on a double-entry system, due to which each transaction is
recorded on the basis of its dual impact on the company's financial position. To make a complete
bookkeeping record of every transaction in a journal, one should consider interrelated aspects of every
transaction, and entries must be made in different accounts to keep the ins (receipts) and outs (payments)
balanced.

A typical account is known to have two sides: the items on the left side are called debits, while the
items on the right side are credits.

Thus, double-entry bookkeeping doesn't mean that the same transaction is entered twice, it means
that the same amount of money is always debited to one account and credited to another account, each
record having its own effect on the whole financial structure of the company. Certain accounts are
increased with debits and decreased with credits, while other accounts are increased with credits and
decreased with debits.

In the second step in the accounting cycle, the amounts from the various journals are usually
monthly transferred to the company's general ledger - a procedure called posting. Posting data to the
ledgers is followed by listing the balances of all the accounts and calculating whether the sum of all the
debit balances agrees with the sum of all the credit balances. This procedure known as the drawing up of
a trial balance and those that follow it usually take place at the end of the fiscal year. By making a trial
balance, the record-keeping accuracy can be checked. The trial balance having been successfully
prepared, the bookkeeping portion of the accounting cycle is completed.

The double-entry system of bookkeeping enables every company to determine at any time the value
of each item that is owned, how much of this value belongs to creditors, the total profit and how much
belongs to the business clear of debt. Thus, one advantage of the double-entry system is that its
information is complete enough to be used as the basis for making business decisions. Another advantage
is that errors are readily detected, since the system is based on equations that must always be in balance.

Exercise 25. Find in the text the noun-derivatives corresponding to the following verbs and
adjectives:
to balance, to pay, to decide, to invest, to post, to record, to prepare, to receive, profitable, to



interpret, accurate, to manage, to equal, to determine, to analyze, to inform, to disagree, valuable.

Exercise 26. Form word-combinations with the nouns which are frequently used in the text
“Bookkeeping as Part of Accounting Cycle” and adjectives which are given below. Translate them into
Ukrainian.

Trial, primary, basic, accurate, additional, general, useful, preliminary, total, double, financial.

Exercise 27. Choose the appropriate word from the variants given in brackets.

A bookkeeper deals with taxes, cash flow which includes cash (receipts / credits) and (debits /
payments), sales, purchases and different other business (activities / transactions). 2. The accounting
cycle is known to consist of seven main steps, the (bookkeeping / accounting) being responsible for the
analysis and interpretation of the (records / entries). 3. Having drawn up the (balance sheet / trial
balance), the bookkeeper expects the final financial (accounts / statements) to be prepared in the
(accounting / managerial) department. 4. Bookkeepers first (post / record) all the data in the books which
are called (ledgers / journals). 5.A ledger is a book having one page for each (entry / accounts) in the
organization’s financial structure, (debits / credits) being shown on the left side. 6. Disagreements
between the total of the (debits / receipts) and total of the (payments / credits) in the trial balance means
that there is an error in the records. 7. All items of tangible assets should be (posted / listed) accurately
before calculating their depreciation. 8. If sources exceed uses, there will be (a balance / an excess) of
cash representing funds provided but not yet to use in the business.

Exercise 28. Match each sentence part on the left with its appropriate part on the right.

1. Bookkeeping as part of the
accounting cycle deals with

2. A bookkeeper is sure to be
fully responsible for

3. The preparation of a trial
balance includes

4. A special book known as a
journal is used

5. Double-entry bookkeeping is
a system of recording
accounts where

6. The posting
consists of

procedure

7. In bookkeeping a sum of
money paid or owed by a
business

8. One should know
crediting means

that

9. Unlike crediting the debiting
procedure means

10. The sum of money gained
by a business

a) is shown on the left-hand side of a
list of accounts.

b) each sale or purchase is shown as
having an effect on both the debit
and the credit columns of an
account.

¢) recording in an account a sum of
money paid out or still owed.

d) regular transferring entries from
the journal to the appropriate
accounts in the ledger.

e) for recording all primary
(mepBuunsbiit) information about
any business transaction.

f) the accurate performance of the
first three steps in the accounting
cycle.

) is recorded on the right-hand side
of a list of accounts.

h) recording all money received by
and paid out of a company in
special books or computer files.

i) the checking of accounts by
comparing the total credits with
the total debits.

j) recording the payment of a sum of
money into an account.

Exercise 29. Complete the following sentences with appropriate prepositions of (9), on (2), in (7),
by (1), below (2), where it is necessary.

The simplest set ... double entry books consists ... a journal and ledger. When a transaction occurs,
it is not entered directly ... the account, but it is first recorded ... a book ... original entries known as a
journal.



Several kinds ... journals are used ... a bookkeeper, the general journal being the most common
type (moBropwi) transactions special journals such as sales, purchases, cash-receipts and cash
disbursements (Burtar) journals are widely used ... bookkeeping. Transactions that cannot be registered
... a special journal and all entries that cannot affect ... cash are recorded ... a general journal.

In a general journal the title ... the account to be debited is placed ... the top line, with its amount
shown ... the debit column. The title ... the account that is to be credited is shown ... it, with its amount
placed ... the credited column. ... this may be a written explanation ... the transaction. The total ... the
debits column should always equal the total ... the credits column ... each general journal page.

Exercise 30. Answer the questions on text 4.

1. What kind of information is of great importance for proper company management? 2. What role
does bookkeeping play in the accounting cycle? 3. What kind of data is collected by a bookkeeper? 4.
What is the difference between bookkeeping and accounting? 5. Who is interested in obtaining accurate
accounting information? 6. What is the modern concept of the accounting system? 7. What tasks should a
bookkeeper solve at the first three steps of the accounting cycle? 8. What does double-entry
bookkeeping mean? 9. What data are recorded in the company's general ledger? 10. When is the
bookkeeping cycle considered to be completed? 11. What are the advantages of the double-entry system?

Exercise 31. Read the text, divide it into the paragraphs and give the title to each of them. Answer
the questions after the text 5.

Text 5. Accounting Steps

Each time an item is purchased or sold, a bookkeeper performs the first three steps of the cycle and
passes on the information to the accountant who carries out the last four steps such as: 1) calculate
adjustments; 2) prepare adjusted trial balance; 3) prepare financial statements; 4) close entries (sakputu
paxynkwu). The most common reasons the accountant should consider preparing adjustments are the following:
increased revenue (for example, interest earned but not yet received); any government taxes or employee
salaries that have not yet been paid; the value of the office supplies that have been used (electricity, water,
etc); depreciation of the assets; changes in the inventory, etc. As to inventory, it involves the physical
measurement, counting and evaluation of items for sale. Inventory evaluation is subject to a variety of
accounting methods, since many inventory items cannot be specifically calculated. The grain in a grain
elevator, for example, comes from different sources and may have been bought at several prices. An accountant
must choose between one of several methods for valuing the grain; each will provide a slightly different value
figure. On the fifth step when the adjustments are calculated, the accountant prepares an adjusted trial balance
that combines the original trial balance with the effects of the adjustments. The balances in the accounts are
the data that make up the organization's financial statements as a balance sheet and an income statement.
The preparation of these statements is considered to be the main purpose of the sixth step. The final step
comprises a series of bookkeeping debits and credits to transfer sums from income statement accounts
into owners' equity accounts, and thus into capital. Such transfers reduce to zero the balances of all accounts,
therefore the accounting books will be ready for the next accounting period.

1. Why is it necessary to make adjustments in a balance sheet? 2. What does the term “inventory”
mean for an accountant? 3. Is the balance sheet considered to be the final important financial document of
the company? 4. What account does closing entries affect?

Exercise 32. Finish the sentences using the information from the texts “Bookkeeping as a Part of
Accounting Cycle” and “Accounting Steps”.
A bookkeeper performs the first three steps of a seven-step cycle, such as:
An accountant carries out the last four steps, such as:
The most common reasons, the accountant should consider preparing adjustments, are:
When adjustments are calculated the accountant prepares ...
The balances in the accounts are ...
The final step comprises ...

S N

Exercise 33. Learn the meanings of the word balance and word combinations with it.
balance - OayaHc, callba0, 3aJIUILIOK
balance - MigpaxoByBaTH, MiICYMOBYBATH;
3BO/INTH, 3aKPUBATHU (PaxXyHKH)



trial balance

draw up a balance

bring accounts to a
balance

favourable balance

unfavourable balance

cash balance

balance of account

balances with foreign
banks

mpoOHUil, mornepenHiilt OyxranrepchKuit
OanaHc, YaCTKOBHM OyXTraJTepChbKHUi
GanaHc

3BOANTH (ITizOuBaTH) OanaHc

CKJIaJiaTu 3BeleHu Oaanc

aKTUBHHN OallaHC, MO3UTUBHUNI OalaHc
[MAaCUBHUI OaJlaHC, HETaTUBHUI OajlaHC
KacoBa I'OTiBKa

3QJTHINOK PAXYHKY

3aJTHINKK Ha PaXyHKaX B 3aKOPIOHHHX
Oanancax

balance in hand - TpOIIOBA rOTiBKA, FOTIBKA KaCH

balance of payments - MIaTDKHWN OanaHc (3BITHICTE, sIKa
XapaKTepHU3y€ ydacTb KpaiHH B
MDKHAPOIHOMY OOMiHI, 1110 BKITIOYAE B
ce0e MOTOYHM MIaTHKHUH OanaHc i
OanaHc pyxy KamiTasiB)

balance of payments - nmedinuT IATHKHOTo 6almaHcy
deficit
balance of trade - TOproBuii 6ajaHc (3BITHICT, sIKa

BijjoOpakae pe3ysIbTaTH y4acTi KpaiHH B
MDKHApOJIHI# TOPTiBi 1 siKa, Oy y4n
CKJIQJJOBOIO YACTHHOIO IIATIKHOIO
0aJlaHCy, BXOAUTh TAKOXK 1 B TIOTOYHHIHA
pPaxyHOK)
debit balance - neberoBe canblo, 1e0eToBUi Gallanc;
MMO3UTHUBHE CaJIbI0
- KPEJUTOBE CaJIb0, KPSAUTHHI OallaHC;
HEraTHBHE CallbI0

credit balance

Exercise 34. Translate the Ukrainian words in brackets into English equivalents paying attention to
the meaning of the word balance and its word combinations.

1. At the end of the fiscal year the company bank statement showed (zazuwox ¢ $15,000). 2. A
team of accountants is working now at (ckradaunsm 3sedenoco 6arancy xkomnanii). 3. After financial
crises the government has to take special decisions to achieve (s6anancoeanoi exonomirku). 4. The country
(mae Odegpiyum mopeosoco 6anancy 3 1982 poky). 5. The bank carefully examined (6arancosuii 36im
¢ipmu) before approving of the loan. 6. In international economics, (nramiswcnuti 6ananc) showing the net
inflow of money to the country is considered to be a statistical account. 7. At the end of the year or even
monthly a bookkeeper (nosunen ckracmu nonepeoniu 6ananc). 8. The main function of the central bank
(nonseac 6 momy, wob niopaxosysamu koxcnuil dens) the sums received against the sums needed (nixonu
He 0o3soas0uU 3anumKam nakonuvyeamucs). 9 As every transaction is listed once as a debit and once as
a credit, SO (cyma 0ebemosoeo carb0o nOBUHHA OOPIGHIOBAMU CYMI KPEOUMOB020 CAbOO).

Exercise 35. Put the verbs in brackets into the correct form.

At the end of the month or more frequently all journal entries (to post) into the book of accounts (to
kno w) as a general ledger (to consist) of separate pages for each account. The page for each account (to
show) its debits and its credits, so that the balance of each account (can) (to determine). As each journal
entry (to record) on the (to plan) side of its account, a mark (to place) in the post column of the journal in
order (to show) that it already (to record) in the ledger. The date (to use) in the ledger (to be) the date on
which the entry first (to record) in the journal. The post column in the account (to use) (to show) which
page this entry (to post) to in the ledger.

In addition to the general ledger, a subsidiary (monarkosuii) ledger (to use) in order (to provide)
information in greater detail about the accounts in the general ledger. For example, the subsidiary ledger
(may) (to keep) for the amount of money (to owe) to the company by all its customers, for the wages (to
pay) to each employee, for each building or machine (to own) by the company and for amounts (to owe)
to each of the company's creditors.



Exercise 36. Learn the following words and word combinations to text 6.

tax and regulatory
departments

operating activities

financial performance

financial accounting

managerial /  management
accounting

budgeting

capital budgeting

deal in

deal with

financial statement

statement of cash flows
income statement

statement of retained earnings

inflow cash

outflow cash

inflow of assets

outflow of assets

source

reliable source of information
generate

disclose

disclosure

net loss

render

render a service

render an account for payment

withdrawal

BiJUILTH 3 OITOJIATKyBaHHS 1
peryJtoBaHHS MiSIBHOCTI
KOMITaHii

YIIpaBIiHCHKA JTiSUTbHICTD
(inaHcoBa IisUTBHICTH
(iHaHcoBa 3BITHICTh
yIIpaBIIiHCHKA 3BITHICThH

CKJIaJJaHHs / CTBOPCHHS
KOIITOpPHUCY, (piHAHCOBE
TUTaHYBaHHSI, CKJIaJJaHHs OI0KETY
CTBOPEHHSI KOIIITOPUCY
KalliTaJI0BKIAZAEHb 1 1X
OKYTIa€EMICTb, PO3PAXYHOK
peHTa0eIbHOCTI
KalliTaJI0BKJIaAEHb

TOPr'yBaTH

MaTH CIIpaBy 3 (AUMOCH)

TYT: (PIHAHCOBUH 3BIT

3BIT PO PyX IPOILIOBUX ITOTOKIB
3BIT TIPO AOXOIH

3BIT IIPO HEPO3MOALICHUH
puOyTOK

MIPUTUTNB / HAJIXO/PKECHHS KOIITIB
BIJILJIAB KOINTIB

MIPUTLIAB aKTUBIB

BIJILINB aKTUBIB

JDKEperno

HaJiiiHe Keperno iHpopmartii
BHPOOJISATH. CTBOPIOBATH
PO3KpHBATH; TTOKa3yBaTH
PO3KPUTTS, TIOBITOMJIECHHS
YUCTHIA 30UTOK

BiJJaBaTH, IIJATUTH

HaJ[aBaTH MOCTYTY

HanmaBaTh (TI0JaBaTH) 3BIT IS
OTLIaTH

BiJIK/THK; BUTY9CHHS;
AHYIIOBAaHHS; 3HATTS 3 PaXyHKY

Exercise 37. Read, translate and give the gist of text 6.

Text 6. Accounting Information

Accounting provides informational access to a company's financial condition for three broad
interest groups. First, it gives the company’s management the information to evaluate financial
performance over a previous period of time, and to make decisions regarding the future. Second, it
informs the general public, and in particular those who are interested in buying its stock, about the fi-
nancial position of the company. Third, accounting provides reports for the tax and regulatory
departments of the government. In general, accounting information can be classified into two main
categories: financial accounting (or public information) and managerial accounting (or private
information).

Managerial accounting deals with cost and profit relationships, efficiency and productivity,
planning and control, pricing decisions, capital budgeting, etc. Not being generally spread outside the
company, this information provides a wide variety of specialized reports for division managers,
department heads, project directors.



A standard set of financial statements is expected to be prepaid regularly by financial accounting
and published in an annual report at the end of the fiscal year. Being prepared in accordance with
generally accepted accounting principles, these statements include the following items: I) the balance
sheet, 2) the statement of cash flows, 3) the income statement, 4) the statement of retained earnings.

Information relating to the financial position of a company, mainly about assets and liabilities, is
presented in a balance sheet. The statement of cash flows shows the changes in the company's financial
position and provides information which is not available in either an income statement or a balance sheet.
Thus, the statement of cash flows represents the sources and the uses of the company's funds for
operating activities, applications of working capital and data about additional  financial support.
Provided the company couldn't generate sufficient cash to finance its activities, it would be necessary to
borrow money and it should be indicated in the statement.

Another financial statement disclosing the results of the company's activity is known as the income
and expense statement. Prepared for a defined time interval, this statement summarizes the company's
revenues, expenses, gains and losses and shows whether a company has made a profit within the period.
Income is considered to be the difference between revenues and expenses. If the total expenses exceeded
the total revenues during the period, the difference would be the net loss of the company. Revenues are
transactions that represent the inflow of assets as a result of operations - that is, the assets received from
selling goods and rendering services. Expenses are transactions involving the outflow of assets in order to
generate revenue, such as wages, salaries, rent, interest and taxes. In addition to disclosing revenues and
expenses, the income statement also lists gains and losses from other kinds of transactions such as the
sale of plant assets or the payments of long-term liabilities.

The income statement excludes the amount of assets withdrawn by the owners, in a corporation
such withdrawal of assets being called dividends. The separate statement of retained earnings and
stockholder's equity shows investors what has happened to their ownership in the company, how earnings
and new stock issuance have increased its value, and what dividends were paid.

Each of these reports contains figures for previous years and for the current period, providing a
way of comparing present and past company performance. Being prepared for the use of management,
the financial statements contain neither debit nor credit columns. These statements are accompanied by
additional data about the particular accounting method used, as well as explanations about the most
important events within the previous year.

Exercise 38. Translate into Ukrainian the following word-combinations. Make up your own
sentences with them.

To make decisions regarding the future, to provide reports for the tax and regulatory departments,
financial accounting, capital budgeting, division managers, department heads, project directors, generally
accepted accounting principles, to provide a wide variety of specialized reports, balance sheet, the
statement of cash flows, the income statement, the statement of retained earnings, assets and liabilities, to
represent the sources and the uses of the company’s funds, application of working capital, data about
additional financial support, to be indicated in the statement, a defined time interval, to summarize the
company’s revenues (expenses, gains and losses), the net loss of the company, rendering services, to
generate revenue, stockholder’s equity, stock issuance, present and past company performance.

Exercise 39. Find in text 7 synonyms to the following words and groups of words:
concerning the future; conclusions about the price; an external part; the uses of capital; a fixed
interval; wide; a number of means of supply; a yearly report; the month before this one.

Exercise 40. Form the synonymous pairs from the following words:
to distribute, to deal in, to accept, to spread, to agree, to borrow money, to trade, to disclose, to
handle, to summarize, to be interested in, to offer, to withdraw, to be concerned with, to evaluate, to make
known, to give the main points of smth, to get a loan, to render, to take back, to generate, to determine, to
deal with, to produce.

Exercise 41. Find in the dictionary the meanings of the words: expenditures, expenses, costs, cost.
Match the definitions to these words.
1. ... the amount of money spent on running a business or part of it.
2. ... an amount of money spent.
3. ... the price to be paid or amount needed for something.



4. ... sums of money spent by a company on goods, services or resources that do not become part of the
company’s assets such as rent, wages, insurance, energy, etc.

Exercise 42. . Put the verbs in brackets into the correct form.

1. Equity would decrease if the owners (to withdraw) funds from the business. 2. If there (to be) a change
in the amount for one item in a balance sheet, it will be always accompanied by an equal change in some other
item. 3. If cash is received from the issuance of bonds, this figure (not to be shown) in the income statement. 4. The
same amount of depreciation would be evaluated each year if the accountant (to choose) the straight-line
method. 5. If the company (to choose) proper ways to use its assets for producing goods and rendering services, it
would have earned enough revenue to stay in business. 6. If a customer received commodities or promised to
pay the company in the future, the revenue (to be recorded) in accounts receivable. 7. If cash (to be paid) to
purchase equipment, this figure will be added to the asset account of a plant. 8. If the company (to introduce)
a new product, it would have increased the company's future cash flows.

Exercise 43. Match each sentence part on the left with its appropriate part on the right.
1. The income statement a)about the changes in the financial
summarizes the data structure of the company.
2. A balance sheet represents b) about a company's revenues,

expenses, gains and losses.

3. The statement of cash flows c) the main accounting equation.
provides the information
4. The statement of retained d) planning, control, budgeting and
earnings  concerning  pricing  discloses the information.
decisions shows investors

5. Financial accounting e) what has happened to their
includes the information ownership in the company, how
earnings and new stock issuance
have increased its value, and

what  dividends were paid.
6. Managerial accounting deals f) relating to the profitability of the
with company and its financial position.

Exercise 44. Answer the following question on text 6.

1 Who is interested in accounting information? 2. What are the main differences between financial and
managerial accounting? 3. What financial statements are included in an annual report and when are they
published? 4. What information can stockholders get from the balance sheet? 5. Why is it important to prepare
the statement of a company's cash flows? 6. What kind of information is represented in the income statement?
7. How can revenues and expenses be defined? 8. What statement shows the amount of a stockholder's
dividends? 9. Why is it necessary to prepare additional reports? 10. What statement contains debit and credit
columns?

Exercise 45. Learn the following words and word combinations to text 7.

asset(s) - aKkTuB, (POHI;, KaIiTaa, MaiHo

assets and liabilities - aKTUBH 1 TaCHBU

capital assets - ocHOBHI (hoHIM

term - TEpMiH, Mepiof

bond - obumirartisi, 6G0prose 30008’ I3aHHSI

terms (pl) - YMOBH

credit terms - YMOBH TIO3HKH

lending terms - YMOBH BHJIa4i KPEIUTY

item - OKpEMHH MPEIMET; CTATTS (8 PAXYHKY
banawucy), IyHKT, TIO3UILis, Taparpad

account - PaxyHOK, (piHaHCOBUI1 3BIT

accounts (pl) - 3BITHICTb, JUJIOBI KHUTH

accounts receivable - paxyHKH Ae0iTOpiB, paxXyHKH JUIs

OJIEp>KaHHS;, OYiKyBaHi MOITOBHEHHS
accounts payable - PaxyHKH JJIsl BUIUIATH / CIUIATH, OYiKyBaHi



BUILIATH / CILIATH

capital account - paXyHOK OCHOBHOT'O KaIliTaiy, paxyHOK
OCHOBHUX ()OH/IIB; OanaHC pyXy KamiTaiiB

income account - PaxyHOK JIOXOHIB 1 30UTKiB

current account - IOTOYHUM paxyHOK

current assets - 000poTHi 3acobu ( poHAN), TOTOYHI,
(Jrerkopeasti3oBaHi; JTIKBiIHI) aKTUBU

current liabilities - KOPOTKOCTPOKOBI 3000B’s13aHHSI, IOTOYHI
IACUBH

ant noncurrent (long- - JIOBrOCTPOKOBi 3000B’I3aHHS

term) liabilities

tangible assets - MaTepiaibHi aKTHBH

intangible assets - HemarepiajbHi aKTHBU

stock-in-trade - TOBapHHUIA 3arac, 3aJHIIOK HePOJaHUX
TOBapiB

goodwill - TYIIBiJIb, IJIOBA PEyTallis; MPECTIK QipMu

copyright - aBTOPCHKE MPaBO

real estate - HepyXoMe MaiHO

net worth - BapTiCTh MaliHa 3a BUPaxXyBaHHSAM

3000B’s13aHb; BIIACHHN KaIliTal
(nionpuemcmea), aucTa BapTICTh KOMITAHI1

equity - KaIlitaJl KOMIIaHii, aKIiOHePHHI KariTal,
AKTUBH (RIONpUEMCMBA) 32 BUPAXYBAHHSIM
3a00pProBaHOCTI

investment interest - TIPOIIEHT IHBECTHIIIH

stockholder syn. - aKIioHep, BIACHUK JeP)KaBHUX I[IHHAX

shareholder marnepis
proper - MPaBWIbHUM, HAJIEKHUAN
operate - TIPAIfOBATH, YIPABJIATH, KEPyBaTH

Exercise 46. Read, translate and give the gist of text 7.

Text 7. Assets and Liabilities

The term "asset" means anything of value that is owned by a company and can be expressed in
terms of money. Economic resources that provide a potential future service to the organization are called
assets in accounting. A company's total assets include such items as cash, buildings, equipment, any other
property and accounts receivable, that is, money owned by its customers.

Assets are usually classified as current and long-term, both types consisting of tangible as well as
of intangible items. Current tangible assets including cash, accounts receivable, stock-in-trade are usually
converted into cash within one year and sometimes can be used as a means of payment. On the other hand,
current intangible assets consist of short-term investments in stocks and bonds.

Long-term intangible assets are not really visible and include such items as goodwill, patents,
trademarks, copyrights, these assets often being the most important factor for obtaining future incomes.
For example, goodwill means an intangible asset which takes into account the value added to a business as
a result of its reputation which cannot be really calculated. In contrast, the real estate (such as farm land,
machinery, buildings and other physical objects) belongs to long-term tangible assets.

Liabilities are obligations that a company owes to another organization, to an individual (such as
creditors and employees) or to the government. Like assets, liabilities are divided into current and long-
term ones. Current liabilities are usually amounts that are paid within one year, including accounts payable,
taxes on income and property, short-term loans, salaries and wages, and amounts of money owed to
suppliers of goods and services. Concurrent liabilities often called long-term are usually debts, such as
bonds and long-term loans.

The amount by which the total assets exceed total liabilities is known as the net worth which is
usually called the equity for companies. When the company is a corporation, the equity means the
investment interest of the owners (that is, the stockholders) in the organization's assets. The owners' equity
can be increased either by investing more money in the company or by earning a profit and can be
decreased because of the company's losses.



All companies keep proper accounting system in order to know whether or not they are operating
profitably.

Exercise 48. Translate into Ukrainian:

to be expressed in terms of money, to provide a future service, to pay in cash, accounts receivable,
money owned by customers, accounts payable, to receive high investment interests, current tangible
assets, to convert into cash, investment in stock, long-term assets, short-term loans, non-current liabilities,
to operate profitably, high taxes, to sell personal real estate for the debts, the company’s equity, to calculate
the net worth.

Exercise 49. Match proper definitions to the following words:

a stock (a share), stock-in-trade, a bond, goodwill, a trademark, a copyright, a loan, a patent

1. A document showing a fixed unit of a company's share capital that provides a profit (dividend)
related to the total profits of the company. Owners of this document also have voting rights (mpaso
rosoca). 2. An exclusive legal right, for a certain number of years, to print, publish, record, perform, sell an
original text, work of art or design or part of it. 3. This term means such items as knowledge, contracts or
reputation that can have a financial effect on a business and are measured in financial terms. 4. A
document from a government or a company that states that money borrowed from an investor will be
repaid. 5. A name or symbol that is used on the products of a particular company. 6. The goods or services
that a business has for sale at a given time. 7. An official document that gives the holder the sole right
(suxiroune mpaso) to make, use or sell an invention and prevents others from copying it, usually for a
fixed period. 8. Something lent, usually money, on condition it will be paid back after a definite period
with interest.

Exercise 50. Match each sentence part on the left with its appropriate part on the right.

1. To be clear of debt a) is usually calculated at the end of
a fiscal year.
2. If current assets are less than  b) such as assets, liabilities and
current liabilities, equity are likely to be arranged
vertically.
3. The money obtained from ¢) a stock, a plot (minsuka) of land,
selling a company's current a building or a machine.
tangible assets
4. Although accounting d) created the legal foundation pro-
appeared in the 16th century, tecting the work of many indus-

tries, for example music recording.
5. Both a person and a company  €) the company should repay all its
can own such items of valueas  debts to investors.

6. In England the three major f) the management of financial
sections of the balance sheet, resources.

7. In order to operate the ) it took much time to find satisfac-
business successfully tory general methods of keeping

finance records.
8. Accountants are supposed to  h) one should process accounting

deal with information properly.

9. The amount of the owner's i) is unlikely to cover the company's
investment interest debts.

10. The Copyright Act adopted  j) the stockholders can't expect any
by the US Congress in 1976 dividends.

Exercise 51. Put each word into one of the sentences below:

a stock (a share), stock-in-trade, a bond, goodwill, a trademark, a copyright, a loan, a patent.

1. The author of the original work may keep the ... or sell it to someone else. 2. Government... are
usually considered to be a safe investment. 3. The total dividend per... was 10 pounds. 4. To protect his
invention such as a new machine, a medicine or a process a scientist must obtain a ... . 5. This company is
very proud of its reputation among the partners and cannot afford (no3somuTu co6i) to lose its ... . 6. For
the company to expand, its owners often ask banks for a ... and agree to pay interest after a definite period



of time. 7. ... of the leading car producers such as Mercedes, Lincoln, BMW, Toyota, etc. are known all
over the world. 8. The ... is shown as an asset on the balance sheet.

Exercise 52. Choose the appropriate word from the variants given in brackets.

1. Knowing the company's (stocks / goodwill) value, creditors are ready to invest more money as
they expect high (investment interest / salaries) at the end of the year. 2. Both farm equipment and farm
buildings make up (short-term / long-term) (intangible / tangible) assets in agrobusiness. 3.
(Accountants/Stockholders) prepare reports in financial (items/terms) describing the results of past
resources allocation decisions. 4. Any company is responsible for paying salaries of (employers / employ-
ees) and (wages / salaries) of workers belonging to company current (liabilities/assets) regularly, usually
monthly or weekly. 5. The amount of goods and services known as company (stock-in-trade / real estate) is
available for sale at a given time and it is shown as an asset on the (accounts receivable / balance sheet). 6.
(To calculate / To operate) properly the company's manager should rely on information obtained from
public survey. 7. The greater is the difference between total assets and total liabilities, the greater is the
company's (net loss / net worth) often known as the (equity / debt) for a corporation. 8. The fundamental
accounting (equation / equilibrium) can be written in different forms, for example: assets - liabilities =
equity. 9. The company's obligations are known to be classified as current and noncurrent ones, the former
being also called (long-term / short-term) (liabilities / assets). 10. One should take into account that
(accounts payable/goodwill) unlike the real estate belongs to intangible assets, but it can be sold like any
other property.

Exercise 53. Translate the sentences in brackets into English using Gerund.

1. The main task of a financial accountant is to concentrate his attention on (npasurvrnomy
VIPASNIHHI 2powuma Komnauii i niocomosyi 36imig y eionosionuit uac). 2. Any owner of a business is
interested in (ynpasninni komnaniero) as efficiently as possible. 3. An increase in stockholders' dividends
greatly depends on (spocmanmns zazamvnux doxoodie komnanii). 4. The company had to compensate for
(nowkoooicenns moeapy) due to (nenpasunvnoi ynaxosxu). 5. Although stockholders have the right to vote
at the general meetings, they are not involved in (wooenne ynpasninus xomnanicro). 6. The company
manager and the board of directors are responsible for (nposedenms zacanvroi nonimuxu xomnanii). 7. The
high corporation equity was due to (ckopouenns eupobnuuux eumpam [ NPABUTLHO20 YNPAGLIHHSL
kanimanvrumu axmueamu). 8. Programmers of many countries are still thinking of (roxpawenns
KoMn tomepHux npozpam ons 06pobku oyxeanmepcwkoi ingpopmayii). 9. Both the bank and the company
gained from (nionucanms y200 npo noszuxy). 10. The company being unable to pay its debts to the creditors,
it was useless to protest against (npodaoici nepyxomocmi komnanit).

Exercise 54. Translate into English:

1. BupoOuunteo Moxke OyTH peHTaOembHUM, SIKINO, SIK MaTepiaibHI TaK i HEMaTepialbHI aKTHBH
3HAXOJAITHCA B MIPABHILHOMY CITIBBiTHOIIEHHI. 2. J[0 JOBrOCTPOKOBMX HEMaTepiaJbHUX aKTHBIB HAJIEKATh
TaKi pedi fK 3eMysl, HepYXOMICTh 1 oOJafHaHHS, TaK SK BOHM OEpyTh YYacTh y TMPOIECi BHPOOHHIITBA
MPOTSTOM TPUBAJIOTO Yacy. 3. MoxHa BUKOPUCTOBYBATH IIOTOYHI MaTepiaibHi aKTHBH, HAIPHKIIA
paxyHKH neOiTopiB, sk 3acid mmatexy. 4. SIk BiIOMO, «TyABUD» HANEXKHUTHh J0 HEMaTepiallbHIX aKTHUBIB
KOMIIaHii, MpoTe peryTalis KOMIaHii MOXe 3HAYHO MiABUINUTH i AoXomu. 5. BUBYEHHS MOTOYHUX i
JOBIOCTPOKOBHX TIACHBIB KOMTIaHIi € My’e BaKJIMBHUM IPH MPOBENEHHI aHaNi3y MiSUTBHOCTI KOMIaHii. 6.
PisHMms MK akTWBaMHU 1 NMacMBaMH — II€ YHCTA BAPTICTh KOMIIAHII, SKa JUIS KOpIopamii Moxe OyTh
TIpECTaBIIeHa y BUTIISAI aKIIiH.

Exercise 55. Answer the questions.

1. What does the term “asset” mean? 2. How can the company’s assets be classified? 3. How can
“goodwill” increase the company’s profits? 4. What liabilities does the company usually have? How are
they classified? 5. How is the net worth calculated? 6. What accounts should be kept by the company?

Exercise 68. Learn the following words and word combinations to text 9.

auditing - ayAWT, IPOBEICHHS peBi3il
audit - @HaJIi3 TOCIOAAPChKOI isSUTBHOCTI, ayauT,
ayJIMTOpPChKa nepeBipka, nepeBipka

(iHaHCOBHX omnepauii, peBisis
framework - ocHOBa (OCHOBH), CTPYKTYpa, paMK{



underlying
disclosure

evidence

footnote

a priori assumptions
evidential matter

sampling

financial accounting
personnel

in operation
integrity

firsthand

jeopardize

facilities

inquiries

novel

scope

lease

operate

tax

insurance

gross sale

a graduated
catering services
receipts

billing

schedule
comprehensively
corroborating
retrace

reconcile
compilation

ratio
foregoing

engagement
to undertake

- OCHOBHMI , SIKHH JIEKUTH B OCHOBI

- PO3KPUTTSI, BINKPUTTS, BUSBICHHS

- 70Ka3, naHi, haktu

- IPUMITKa, BUHOCKA

- TIOTIEPETHI TPUITYIISHHS

- JOKa30BHUM, OCHOBAaHMHA Ha OYCBUIHHUX

(hakrax

BUOIPKOBUH MeTOA, BUOIPKOBUI KOHTPOJIb,

BUOIPKOBE JIOCIIPKEHHS

- (piHaHCOBA 3BITHICTH

MIEPCOHAJI, IITAT

B aii

YECHICTb, I[UTICHICTD

0COOMCTHI

HapakaTd Ha HeOe3meKy,

3arposy

- o0jagHAHHS,
MOTYXKHOCTI

- JIOBIJKH, JTOCIIKEHHS, OMUTYBaHHS

- HOBUH, HEBIAOMUI

- MacmTad, TpoCTip, KOMIETEHITIs

- 3/IaBaTH B OPEHIY

- KepyBaTH, YIIPaBIIATH

- TIOJIATOK

CTpaxyBaHHs

- BaJIOBUH IpOJIaXx

- TaKWH, [0 ITOCTIHHO 3MIHIOETHCS

- TIOCTYTH TPOMAJICHKOTO XapayBaHH

- TJIATEX1 TPOIIOB1 HAMXOHKEHHS

- BUPYYKa, BUMHCYBaHHS PaXyHKY

- PO3MUCYBATH, IPU3HAYATH

- BUYEPITHO, BCEOITHO

- MATBEPKYI0Ya, MiIKPITLIo0Ya

- BIATBOPHUTH B TIaM’SITi, IPOCIKYBATH

- Y3rOIXKyBaTH

- KOMITUISILIA,
(marmx)

- KoediIli€eHT,
BIZICOTOK, 07

- BUILIE3raIaHUI

- IOMOBIIEHICTh, KOHTPAKT

- posmoyaT, Opati Ha cebe 3000B’s3aHHSA,
rapaHTyBaTH

CTaBUTH IIiJ

OymiBii, BUPOOHMUYI

KOMITUTIOBaHHS, 30HMpaHHs

MIPOTIOPIist,  BiTHOMICHHS,

Exercise 69. Read, translate and give the gist of text 10.

Text 10. The auditing framework

When the independent auditor begins an audit assignment, he assumes that the internal control
system of the enterprise is appropriate and effective; generally accepted accounting principles have been
applied in all accounting processes underlying the financial statements; the generally accepted accounting
principles utilized have been applied consistently between the current and the prior periods; and there is
an adequate amount of informative financial disclosure in the financial statements and footnotes.
Evidence gathering and its evaluation enable the auditors to reject or confirm these a priori assumptions.

We are thus in a position to define auditing.

Auditing



The analytical process of gathering sufficient evidential matter on a test or sampling basis to enable
a competent professional to express an opinion as to whether a given set of financial statements meets
established standards of financial reporting.

Now we can enumerate the major steps of the auditing process: become acquainted with the firm -
its environment and its accounting, personnel, production, marketing, and the other systems: review and
evaluate the management and the accounting control system in operation; gather evidential matter on the
integrity of the system; gather further evidence related to the representations made in the financial
statements; and formulate a judgment opinion on the basis of the evidence available.

Getting acquainted

Auditing is an analytical process applied to everyday business situations. Hence it is closely related
to existing business practices. Without firsthand knowledge of the nature of these practices and their
larger setting, the auditor would have to rely exclusively on available financial data. This would
jeopardize both audit efficiency and effectiveness. Therefore a getting-acquainted phase (which usually
includes s visit to a client's facilities and certain analytical preliminary tests and inquiries) initiates the
typical audit process. While "getting-acquainted” preliminaries to the conduct of an audit are standard
procedures today, they were quite novel prior to 1965. Initially such procedures were described as the
"pusiness approach to auditing".

Control system review

The auditor's evaluation of the control systems operating within the enterprise has a direct influence
on the scope of the examination he undertakes and the nature of the tests he conducts. However, even
though preliminary evaluation of control system is an essential ingredient of planning the audit scope, we
must remember that eventually both the system and the data it produces are covered by the audit process.

Example

The Brothers Three Shopping Center has leased space to Mr. Hines, who operates a quality
restaurant named The Duncan Inn located within it. Lease payments are based on a minimum monthly
amount sufficient to cover taxes and insurance on the building plus a graduated percentage of the
restaurant's gross sales to diners and bar patrons. No percentage payments are due on catering services.

Bar and restaurants receipts of The Duncan Inn are collected in cash and from credit card billing. A
select few patrons have the privilege of open credit with monthly billings.

In planning the initial audit of the Duncan Inn's financial statement a CPA finds that virtually no
internal control exists over cash bar receipts. Hence tests covering cash bar receipts are scheduled more
comprehensively than those extending to credit card sales.

Evidential matter

Evidential matter supporting financial statements consists of the underlying accounting data and all
corroborating information available to the auditor. The auditor tests underlying accounting data by
analysis and review, retracing some of the procedural steps followed in the original accounting process
and reconciling the events with the information reported.

The auditor's evidential material is the result of tests, selected observations, and statistical sampling
where large compilations of data are involved. The auditor must always balance the natural desire for
more evidential matter to support an opinion against the costliness and social usefulness of completely
reconstructing the underlying data and processes that produced the financial statements. One key
justification for independent audits, as we have seen, is the economy that results from producing expert
opinion-based judgments from limited but reliable evidential matter.

Example

Among tests covering cash bar receipts of The Duncan Inn, the CPA determined what the expected
average ratios should be between liquor used, average number of individual drinks per bottle of liquor,
and the price structure of drinks served. Making appropriate allowances for credit card sales, the CPA
was then able to make a reasonable estimate of cash bar receipts for the period under audit. The estimate
of the cash bar receipts constitutes evidential matter for purposes of the audit. (Note that the foregoing
test has physical and financial dimensions. A purely financial test would be to subtract cash restaurant
receipts from total bank deposits to arrive at cash bar receipts. In an actual engagement, an auditor might
have undertaken both types of tests.)

Exercise 70. Translate into Ukrainian the following word combinations from the text. Make up your
own sentences with them.

Independent auditor, generally accepted accounting principles, to reject or confirm these priori
assumptions, the analytical process of gathering sufficient evidential matter, on a test or sampling basis, a



competent professional, to express an opinion, to meet established standards of financial reporting, to
gather evidential matter on the integrity of the system, to formulate a judgment opinion on the basis of the
evidence available, to rely exclusively on available financial audit process, to have a direct influence on
the scope of the examination, preliminary evaluation of control system, to be covered by the audit
process, to have the privilege of open credit with monthly billings, to consist of the underlying accounting
data and corroborating information, key justification for independent audits, the estimate of the cash bar
receipts.

Exercise 71. Say whether the following statements are true or false according to the text.

1. The auditor does not assume that the company is regulating its own finances. 2. The auditor
assumes that a company is observing all standard accounting procedures. 3. The auditor accepts that a
company may use different assumption over time. 4. The auditor will believe, before an audit, that all
necessary company information has been supplied.

Exercise 72. Looking at both sections of the example in the text, answer the following questions.

1. What are the two elements involved in Mr. Hines's lease payments? 2. Which element of the
restaurant's income is not subject to satisfactory internal controls? 3. In what two ways could the auditor
deal with the problem?

Exercise 73. Find in the text and translate all sentences with Participles; analyze the Participles;
define their functions (an attribute; adverbial modifier, part of a compound verbal predicate).

Exercise 74. Sum up what the text says about the auditing framework.

Exercise 75. Read the text, divide it into the paragraphs and give the title to each of them.
Text 11. Auditing

The profession of the auditor is considered to be one of the most prestigious and well-paid ones.
Auditors are accountants who analyze financial statements of the company and their responsibility is to
express an opinion as to whether the accuracy of the company's financial reporting meets the requirements
imposed by the government. In general, auditors deal more with operating efficiency and managerial
effectiveness than with the accuracy of the accounting data.

Internal auditors are known to be hired by the company in order to help to identify accounting
weakness and correct them before significant errors occur. They are often analytically minded people who
make flowcharts of accounting systems and evaluate these flowcharts to suggest improvements in division
of labour, paper flow, cash control, or other accounting responsibilities.

Independent auditors are employed by a company's board of directors to supply the stockholders
with the results of checking the financial statements, in order to prove that annual reports are fair
representations of the financial position of the company. Performing his work the auditor should follow sev-
eral principles and assumptions: the company's accounts must represent a true financial position; generally
accepted accounting principles have been used at all accounting steps and accounts can be compared with
those of similar companies; the proper amount of information is disclosed in the financial statements. As a
result, the auditor's opinion should be based only on facts and it must be objective. Auditors are expected to
maintain a relationship of strict independence and professionalism with the companies for whom they work,
so they mustn't hold shares in these companies. On the one hand, the auditor should respect the client's
confidence, so having access to some private information, the auditor must not spread it outside. On the
other hand, he should think of public interests, that is why he must publish his opinion in a standard form
and the information is to be clear to the stockholders. But he must always carry out his duties under the law
and inform authorities about fraud.

Exercise 76. Answer the following questions on text 11.

1. What is the difference between internal and external auditors? 2. What main concepts should be
considered by the auditor? 3. Why is it necessary to receive an independent auditor's opinion?

Exercise 77. Translate into Ukrainian:

to be one of the most prestigious and well-paid professions; to meet the requirements imposed by
the government; the accuracy of the company’s financial reporting; to deal with operating efficiency and
managerial effectiveness; to deal with the accuracy of the accounting data; to help to identify accounting
weakness and correct them before significant errors occur; to be analytically minded people; to make flow



charts of accounting systems; to supply the stockholders with the results of checking the financial
statements; to be fair representations of financial position of the company; to maintain a relationship of
strict independence and professionalism with the companies for whom they work; to respect client’s
confidence; to have access to some private information.

Exercise 78. Name the following definitions:

a person who officially examines the accounts of a company, a person who performs an audit; the
state of being correct or exact and without error especially as a result of careful effort; a thing done
wrongly, a mistake; a person or an organization that owns stocks and shares; a thing that is thought to be
true or certain to happen, but is not proved; the skill or qualities required or expected of members of a
profession; the action or an instance of deceiving smb. in order to make money or obtain goods illegally;
a feeling or belief that one can firmly trust or rely on smb. or smb’s ability or smth. that is said or
reported.

Exercise 79. Complete the following sentences using the text.

1. The profession of the auditor is .... 2. Auditors responsibility is .... 3. Internal auditors are
known .... 4. Independent auditors are .... 5. The auditor should follow several principles and
assumptions .... 6. As a result, the auditor’s opinion should be based only on .... 7. On the one hand,

the auditor should respect the client’s confidence, so .... 8. On the other hand, the auditor should think of
public interests, that is why he must .... 9. But he must always ...

Exercise 88. Learn the following words and word combinations to text 13.

rational - paiioHaIBHUH, PO3YMHHH, JOIUTBHHIMA

depreciation - 3HOIIYBaHHsI, aMOPTU3AIlisl, 3HIKSHHS
BapTOCTI

physical depreciation - (hi3uuHE 3HONUTYBAHHS

moral depreciation - MOpaJIbHE 3HOIIYBaHHS

deterioration - TICYBaHHSI, MTOIIKOKEHHS, 3HOIIIEHHS

wear out - 3HOIIYBaTH, BUCHAXKYBATH

obsolete - 3acTapianii

up-to date - OCTaHHIH, CydacHui

means of production - 3ac00M BUPOOHHUIITBA

obsolescence - CTapiHHS, CIPaIFOBAHHS

commaodity - TOBap, MPEAMET CIIOKUBAHHS, TIPOIYKT

go out of fashion - BUXOAUTH 3 MOJIH

rust - ipka

decadence - 3aHenaj

erosion - epozis

Exercise 89. Read, translate and give the gist of text 13.

Text 13. Depreciation of Assets
In accounting, the process of allocating in a systematic and rational manner the cost of certain items
of the assets (these are mainly capital assets) over the period of its useful life is known as depreciation.
There are three main types of depreciation causing the decrease in value of an asset: 1) physical
depreciation, 2) moral depreciation, 3) deterioration .

In the process of production the capital assets gradually wear out, thus after a definite period of time
they have to be replaced. This is known as their physical depreciation.

However, capital assets are also subject to moral depreciation, that is after serving for some period of
time, they may become obsolete before they are physically worn out and have to be replaced by more up-
to-date means of production. Such obsolescence of the assets is caused by technological changes and by
the introduction of new and better machinery and methods of production. Obsolescence can also be caused
by the commodity produced by the asset, for example, if it goes out of fashion. In the latter case, the degree
of obsolescence will depend on the specific nature of the asset. Sometimes assets can be easily adapted to
alternative uses while others may have only one application.



Deterioration means a change in value of an asset because of the effects of nature, for example, for
machinery this might be rust, for buildings it is connected with decadence, for farm lands it is caused by
erosion.

In accounting, it is important to know depreciation of the capital assets as it increases the company's
expenses.

Exercise 90. Translate into English:

the process of allocating in a systematic and rational manner, useful life, to cause the decrease in
value of an asset, physical depreciation, moral depreciation, deterioration, after a definite period of time, to
be subject to, to become obsolete, to be physically worn out, to be replaced by more up-to-date means of
production, to be caused by technological changes, to be caused by the introduction of new and better
machinery, to go out of fashion, to depend on the specific nature of the asset, to be easily adapted to
alternative uses, to be connected with decadence, to be caused by erosion.

Exercise 91. Complete the sentences.

1. Most capital assets have a limited life due to ... 2. Depreciation results from such causes as .... 3.
In the case of machinery one should take into account.... 4. Obsolescence can be caused either .... 5. The
effects of nature decrease the value of capital assets because of... 6. The choice of depreciation method is
particularly important.... 7. In practice we often use the following methods of calculating depreciation ...

Exercise 92. Complete the text by inserting the correct form of the verbs in the box:

allow charge deduct encourage
exist increase involve lose
convert spread wear out write off

Fixed assets such as buildings, plant and machinery (but not land) gradually (1) ... value, because
they (2) ... or decay, or because more modern and efficient versions are developed. Consequently, they
have to be replaced every so often. The cost of buying or replacing fixed assets that will be used over many
years is not (3) ... from a single year's profits but is accounted for over the several years of their use and
wearing out. This accords with the matching principle that costs are identified with related revenues. The
process of (4) ... anasset into  an expense is known as depreciation.

Various methods of depreciation (5) ..., but they all (6) ... estimating the useful life of the asset, and
dividing its estimated cost (e.g. purchase price minus any scrap or secondhand value at the end of its useful
life) by the number of years. The most usual method of depreciation is the straight line method, which
simply spreads the total expected cost over the number of years of anticipated useful life, and charges an
equal sum each year. The reducing or declining balance method (7) ... smaller amounts of an asset's value
each year in cases where maintenance costs for the use of an asset are expected to (8) ... over time. The
annuity system of depreciation (9) ... the cost of an asset equally over a number of years and (10) ... this,
and an amount representing the interest on the asset's current value, each year.

Some tax legislations (11) ... accelerated depreciation: writing off large amounts of the cost of
capital investments during the first years of use; this is a measure to (12) ... investment.

Exercise 93. Use the verbs in the appropriate tense and voice form. Translate the sentences into
Ukrainian.

1. Our economists (to choose) another level of output for the next year as the situation at the market
already (to change). 2. The demand for a commaodity (to affect) by a change in price and this relationship
(to call) elasticity of demand. 3. Some African countries already (to buy) large quantities of food from the
European countries and the USA as they (to lose) most of their crops because of the drought. 4. The
present director of the company (to know) the way of running a business efficiently as business
administration (to teach) to him at London School of Business. 5. Recently the increase in consumers'
income (to follow) by the increased demand for normal goods. 6. This American company (to sell) its
computers very successfully at the market now by maintaining low retail prices. 7. The balance sheet (to
show) to the company's manager last Monday and he (can) make proper managerial decisions just in time.
8. New economical methods of transporting fruit and vegetables (to develop) in the future and they (to
help) to deliver fresh products to the consumers more quickly.

Exercise 94. 1. Sum up what the text says about depreciation of assets.



2. Answer the question: What types of depreciation are the following items subject to: computers,
combines, farm buildings?

Exercise 95. Learn the following words and word combinations to text 14.

cost - BapTiCTb, LliHa, BUTPATH

direct cost - TIpSIMi BUTpATH

indirect cost - HenpsMi BUTpaTH

overhead - HaKJIaJHi BUTPATH

recovery - BIIIIKOAYBaHHS

direct raw material - ocHOBHI BUpoOHHMYI MaTepianu (a0 CHPOBUHA)

warrant - rapaHTyBaTU, Py4aTucs

glue - KJei

SCrew - I'BUHT

rivet - 3aKJIenKa

merit - TIHICTB, 3aCiTyra; 3aCIIyroByBaTH, OyTH
BapTUM

clerical - KaHUEISIPChKUH, KIIepHUKAIbHHIA

remuneration - BUHAropoja

piecework - BiapsiaHa poboTa

vary with - 3MIHIOBATUCS BiANOBIHO 10

diverse - pi3HOMaHITHH

allocate - PO3MOISITH, BUALIATH (PECypecH)

allocation - PO3MOII, PO3MIIIIEHHS, BUIIICHHS

split up - pO3IISTUCS, TPOOUTHCS

precise - TOYHHH

two-fold process - TIOBIMHUI TTpoIIEC

Exercise 96. Read, translate and give the gist of text 14.

Text 14. Overheads and their recovery

The costs of a business are of two types - direct and indirect. The direct costs vary directly with
production. If one additional unit of production is made, there will be a measurable increase in direct cost.
When one unit less is made, there will be similar measurable decrease in direct cost. Direct raw material is
normally the largest component of direct cost. It includes all items of material that are of sufficient size to
warrant the effort of changing directly to the job. Small items, such as glue, paint and small quantities of
nails, screws and rivets, do not merit the clerical effort involved in charging directly to the job, and would
be recovered as an overhead.

Direct wages will vary directly with production where remuneration is based upon piecework only.
This means that a specific amount is paid when a production operation is successfully finished. If it is not
finished, no payment is made.

Overhead is a general term applied to all costs involved in running a business, other than direct costs.
It covers the costs of running the works organisation; product research and development; the
administration of the business; selling and distributing the product; and the cost of raising finance.
Overheads are diverse, covering the whole of the business organisation. The management accountant has
the problem of allocating these costs to the individual product lines being manufactured.

Cost centers

To help in this task, the organisation is split up into cost centers. These are areas of activity to which
are gathered all the costs of a like nature. A maintenance department, canteen and stores are examples of
cost centers. Normally centers will identify with physical areas of the organisation. A stores cost center is a
physical area in which materials are kept, while awaiting issue to production. A center may also not be
identifiable with a physical area. The finance cost center will gather together all the costs of raising finance
for the business, other than from owners or shareholders. It is a function of the administration department,
and cannot be identified with a physical area of the business.

Where a cost center has a product which is being manufactured, it is known as a product center.
Examples are a machine shop which is machining parts for assembly into the saleable product in an
assembly shop. Where a center has a product that is saleable, thus giving rise to an income, it is also known
as a profit center. It is capable of showing a profit or loss on its overall activities.



Cost allocation

The management accountant's task is to allocate the many, diverse overheads, onto the cost of each
product manufactured. It is a major task requiring the use of many different bases of allocation. The
allocation of direct cost to a product can be precise. In the case of overhead allocation an element of logical
guestimation enters.

Exercise 97. Translate into Ukrainian the following words and word-combinations:

direct costs, indirect costs, overhead, recovery, a measurable increase in direct costs, a measurable
decrease in direct costs, raw material, to be of sufficient size, to vary with, to merit, remuneration, to be
based upon piecework, the costs involved in running a business, the costs of running the works
organization, to be saleable, a profit center, to split up into cost centers, a maintenance department, to
gather together all the costs of raising finance for the business, to be identified with a physical area of the
business, logical questimation, two-fold process, profit centers, to load the overheads onto each product
passing through the center.

Exercise 98. Name the following definitions:

a natural substance which is used to make sth. else; any of the parts of which sth. is made; careful
study or investigation, esp. in order to discover new facts or information; the money (finance) used or
needed to support an activity, project, etc.; an owner of shares in a business company; fit for sale or that sb.
will want to buy; different kinds; a place where goods or services are sold to the public; exact, particular.

Exercise 99. Complete these sentences according to the information in the text 14.

1. The largest element of direct costs is usually ... . 2. All raw material costs are included in the
direct costs of a product except .... 3. Overhead is a general term applied to all costs .... 4. A stores cost
center is a physical area in which ... . 5. Where a cost center has a product which is being
manufactured, it is known as ... . 6. Where a center has a product that is saleable, thus giving rise to an
income, it is also known as ... . 7. The management accountant's task is to ... .

Exercise 119. Learn the following words and word combinations to text 17.
flow last in-first out - pyX 3amaciB, OCTaHHI¥ IpUHAIIOB
TIePIIUH TIIIOB
OIliHKa BUOYTTSI 3araciB
OIlIHKA CIFICAHUX 3aIlaciB
IHTEepIIpeTallis IeHCIHHNX

inventories retirement evaluation
inventories write-off evaluation
interpretation of expenses incurred

BUTpAT
borrowing costs - BUTpPATH Ha 3aiiMH
interest credit expenses - TIPOIEHTHI BUTPATH II0
KpenuTax
intangible assets cost - BapTICTh HEMaTEPiATbHUX
aKTUBIB
without hiring general contractor - HE 3aIy4aroud MiIpsTHUKA
overspend costs - MEpEBHUINEHHS BUTPAT (Ha
3aKYIIKY)
renewals accounting - TIOHOBJIIOIOYMIA 00K
network systems - MEpexXeBi CHCTeMH
amortization security - amoprH3alliiiHe 3a0e3medeHHs
water network item - 00'eKT BOIHOI Mepexi

Exercise 120. Read, translate the text and compare the regulatory schemes of the accounting

system in Great Britain and Northern Ireland and in Ukraine.
Text 17

After Ukraine had started a radical accounting reform in accordance with international standards,
principal differences between Ukrainian and British financial accounting systems were eliminated. Today's
concept of Ukrainian accounting conforms completely to generally accepted accounting principles.

As to the IAS system, Ukraine and Great Britain's national accounting systems preserve some
peculiarities.

At the same time some differentiation within the limits of the general 1AS concept is



considered possible. As is known, IAS allows for the application of so-called alternative accounting
methods. But national systems of financial accounting and reporting effect such possibilities in different
ways.

Let's give a few examples of discrepancies between the accounting of Ukraine and the United
Kingdom.

In accordance with paragraph 23 of IAS 2 "Inventories”, such an accounting method of
inventories flow as LIFO ("last in -first out") is optional. The LIFO method is acknowledged as a standard
way of accounting along with other generally accepted ways of inventories retirement evaluation in cl. 20
of accounting Standards of Ukraine (ASU). At the same time British standard SSAP 9 directly prohibits
the usage of this method in the accounting practices of Great Britain. Despite this fact British companies
doing business outside Great Britain though subsidiary enterprises may use the LIFO mechanism if it is
permitted by local accounting regulations.

Thus, if an enterprise of British origin functions in Ukraine, it may freely use a method of
inventories write-off evaluation in accordance with the "last in -out™ principle.

An interpretation of financial expenses incurred because of an acquisition of fixed assets is
another example of different applications of IAS alternatives.

IAS 23 "Borrowing Costs" in paragraph 11 as an alternative approach allows for the amortization of
borrowing costs incurred due to the entering of qualified assets into the books.

Ukraine has not accepted this alternative. CI. 11 of UAS 8 “Intangible Assets” and cl.8 of ASU 7
"Fixed Assets" prohibit the inclusion of interest credit expenses into an intangible assets cost.

At the same time English FRS 15 permits in some situations to include such costs into the cost of
fixed assets. But this method is deemed more an exception rather than a rule and is not encouraged as a
primary approach. Thus, paragraph 19 of the standard says that an enterprise may make a decision to
capitalise borrowing costs directly related to the building up of intangible assets as a part of the value of
such assets. In connection with this, the total amount of the borrowing costs capitalised within a reporting
period is not to exceed the total amount of borrowing costs incurred within this period.

There are also many discrepancies of a less conceptual character.

For example, when evaluating fixed assets such as constructions erected by the enterprise itself
(without hiring a general contractor) the British system highlights overspent costs. They are explained
in the following way. If extraordinary expenses were incurred during construction, an enterprise is to
find a guilty person. If the overspending occurred because of internal inefficiency, it is not to be included
into the value of the building and is to be written off in the period of its occurrence. Excessive spending on
building materials, which do not correspond to the nomenclature of the construction, by the internal supply
dispatcher is an example of such situation. If overspending was caused by external factors (e.g. legislative
increase in workers' salary) underestimated expenses are to be capitalised by the general standards. An
interpretation of selling expenses in accounting illustrates another discrepancy. In accordance with cl. 11
SAS 16 selling expenses are not to be included into the production cost; under cl. 17 of the same standard
they are also not to be included into the cost of goods sold.

In practice, British accounting follows the same rule. But this general principle loses validity in the
case of goods sold under the conditions "sale or return." Thus, goods at a buyer's warehouse
remain  a seller's property. In such situations, a seller's expenses for package and delivery of goods to a
buyer are to be included into the cost of goods.

The British are also eccentric in some nuances of charging amortization. British standard FRS 15,
along with generally accepted methods, compises the so-called substitute method or renewals accounting.
This method is based on the following precondition: some items of public infrastructure connected with
water resources (water-mains, sewerage systems, reservoirs, dams, collectors) are not to be amortised, as
such network systems are constantly maintained in an equally high-qualty condition. Hence, these items
have an unlimited usefulness.

A renewals accounting, whose annual costs necessary to maintain the said infrastructure are
acknowledged as an amortisation security, is applied to such assets As long as these expenses occur, they
are to be amortised. As a result, both the cost of water network items and the amounts of their amortisation
increase.

A forced transformation of Ukrainian accounting to the general European format expanded
professional interests of Ukrainian accounting personnel.

Exercise 121. Translate into English and make up your own sentences with them:



paaukanbHa Oyxrantepcbka pedopma, 3aralbHONPUHHATI OyXranaTepchbKi NPUHLMIN, 30epiraTu
JiesKi 0COOMBOCTI, AO3BOJISTH 3aCTOCYBaHHs, ajJbTEPHATHBHI OyXranTepchbKi METOAW BiIMIHHOCTI, pyX
3ac00iB, OIIIHKAa CHHMCAaHMX 3amaciB, 1HTEpHperalis MEeHCIMHUX BUTPAT, OCHOBHI 3acoOM, BUTpaTH Ha
3aliMH, TIPOLEHTHI BHUTpPAaTH IO KpPEAWTaX, BapTICTh HeMaTepialbHUX aKTHUBIB, HE 3alydaloud
TeHIIIPSITHUKA, TOHOBIIOIOUHH OOJIIK, IEPEBUIIICHHS BUTPAT, MEPEXKEBI CUCTEMH, 00’ €KT BOTHOI MEPEKi,
aMopTH3alliiiHe 3a0e3eueHHS.

Exercise 122. Translate the following sentences into Ukrainian. Put all kinds of questions to them.

1. After Ukraine had started a radical accounting reform in accordance with international standards,
principal differences between Ukrainian and British financial accounting systems were eliminated.

2. Today’s concept of Ukrainian accounting conforms completely to generally accepted accounting
principles.

3. IAS allows for the application of the so-called alternative accounting methods.

4. If an enterprise of British origin functions in Ukraine it may freely use a method of inventories
write off evaluation in accordance with the “last in-first out” principle.

5. An interpretation of financial expenses incurred because of acquisitions of fixed assets is
another example of different applications of IAS alternatives.

6. The British are also eccentric in some nuances of charging amortization.

7. A forced transformation of Ukrainian accounting to the general European format expended
professional interest of Ukrainian accounting personnel.

Exercise 123. Discuss the text with your partner using the following questions.

1. Why has Ukraine started a radical accounting reform in accordance with international standards?

2. What principles does today’s concept of Ukrainian accounting conform completely to?

3. What peculiarities do Ukraine and Great Britain’s national accounting systems preserve as to the
IAS system?

4. What are discrepancies between the accounting of Ukraine and the United Kingdom? Give a few
examples.

Exercise 124. Match the verb in the first column with the most likely noun in the second column.
More than one combination may be possible.

preserve validity
allows for interests

use amortization
make method

incur application
capitalize decision
cause peculiarities
lose expenses
expand overspending
amortize costs

Exercise 125. Read the text, divide it into the paragraphs and give the title to each of them.
Text 18. Accounting Industry in the USA

Accountants and bookkeepers work for business firms, government agencies, and many other
organizations. In the USA public accountants are those who are available to the public for such accounting
functions as monthly bookkeeping and tax preparation. Most states do not regulate the qualifications or
performance of public accountants.

The only accountants permitted to offer opinions about financial statements should be Certified
Public Accountants (CPAs), who have passed difficult national examinations. Accountants must also
fulfill the requirements of the state in which they practice including several years of varied experience
within the profession. Provided a person is a certified accountant, he will be licensed by the state to
perform accounting services to clients for a fee.

Business companies, banks and large corporations employ their own accountants to examine their
accounts and prepare financial statements or maintain their own internal accounting departments. If a small
company or business required to prepare some financial statements, it would hire the services of an outside
accountant.



Most US CPA firms are relatively small and represent individuals and privately held businesses for whom
they prepare financial statements and act as advisors on tax matters. The largest accounting firms in the United
States are known as The Big Five and a large number of their offices are spread throughout the world and the
nation's largest companies are their clients.

Of the various specialized areas of accounting that exist, the three most important are: 1) auditing, 2)
income taxation, 3) non-business or organizations.

Auditors are accountants who estimate the accuracy of a company’'s financial statements, and if they find
any disagreements in the documents with generally accepted accounting principles, they will be responsible to
inform about them in their report.

Income taxation as the second area of accounting specialization includes determination of a company's
taxes according to the existing laws. The tax accountant sometimes may be a lawyer, because if there had been
any changes in tax law, he would have informed the company about it. The methods chosen to report assets
and liabilities will influence the amount of tax to be paid, at least within the fiscal year.

A third area of specialization is accounting for non-business organizations, such as universities,
hospitals, churches, trade and professional associations, and government agencies. These organizations differ
from business companies in many items: 1) they receive resources without paying for them, 2) they do not have
profit orientation, 3) they have no defined ownership interests as such. As a result, these organizations have a
number of differences in record keeping, in accounting measurements, and in the form of their financial
statements.

Exercise 126. Answer the following questions.

1. What is the difference between a public accountant and a certified public accountant? 2. What are
the main requirements to a CPA in the USA? 3. How does the work of an accountant in a big and in a
small company differ? 4. What are the main branches of specialized accounting? What are their tasks?

Exercise 127. a. Find in the text synonyms to the following words and groups of words (adjectives
and adverbs): once a month, conventional, accessible, significant, different.

b. Form antonyms from the following adjectives and nouns using negative prefixes un-, in-, im-, ir-
, dis-: real, dependent, desirable, advantage, proper, responsible, limited, possible, adequate, agreement,
sufficient, developed, easy, regular, able, efficient, profitable, successful, active, employed.

Exercise 128. Name the following definition:

accessible, easy to access; open or known to people in general; to give an official documents to
smb., to allow them to do or use smth;  an amount of money paid for professional advice or services; a
business company; a person who gives advice, esp. smb. who is an expert in a particular field; money
that has to be paid to the government by people and businesses according to their profits; a person trained
and qualified in the law who does legal work for other people; the state or right of being an owner;
financial year; the process of working or functioning; the process of gaining know ledge or skill over a
period of time through seeing and doing things rather than thought studying; to make smth possible, to
allow smth; to adjust.

Exercise 129. Cross out the modal verb and its form, that it is impossible to use in the following
sentences.

1. Taking into account the high rate of inflation the government (may / ought / will have) to
increase salaries of jobholders (nepsx. cayx6.) by 2010. 2. In the late 1980s, many industries in European
countries (were able to / must / had to) increase investments in informational technologies for future
production. 3. the value of one commaodity (are to / should / must) be compared with that of another in
terms of money. 4. The tax system (should / can / must) be easy enough to administer. 5. Individuals
(should / are / have) to pay income tax on earnings from labour, rents, dividends and interest. 6. An the
absence of some form of money, exchange (can, has to / should) take the form of barter. 7. An the modern
world where so much business is conducted on the basis of credit, sellers (have to / must / is to) accept the
system of deferred payment. 8. Calculating company assets an accountant (should / ought to / had to)
remember that non-renewable goods (can / are to / should) be used up in one production cycle.

Exercise 130. Translate the following sentences into English:
1. ®inancoBi 3BiTH, IO MyONIKYIOTbCA IIOPIYHO AJsl AKLIOHEPIB ILIKaBIATH TAKOXK ITOJATKOBI
opranu. 2. 3BiTW AJS MPaBIIiHHS MICTATH AaHi MIONO IUIAHYBAaHHS, B3a€MO3B 3Ky BapTOCTi 1 MpHOYTKY,



LIHOYTBOPEHHS, CTBOPEHHS OrO[KeTy 1 epekTuBHOCTI mianpuemctBa. 3. Llopiunmii 3BIiT BKIIOYaE B cebe
HacTynmHUH HaOlp (iHAaHCOBMX AOKYMEHTIB: OalaHCOBHH 3BiT, 3BIT MPO TPOMIOBI TMOTOKH, 3BIT MPO
mpHUOYTKH, 3BIT PO MEPEepPO3NOAIIEHHIH KariTall, 0 TOrO K JAJs MOPiBHSHHS B 3BiTaX HAIarOThCS JaHi 3a
nonepenHii pik. 4. 3BIT IPO I'POMIOBI MOTOKH TOKa3ye€ YW HAKOMWYWIIA KOMIIAHIS JIOCUTh TOTIBKU JIJIS
¢diHaHCyBaHHSI CBO€i ISUTBHOCTI YW HEOOXiAHO OyJIO B3SITW Ipolll y MO3HMKY. 5. 3BIiT mpo mpuOYyTOK
HABOJWTH JaHi SIK PO TOXOAW 1 BUTPATH TakK i mpo NpuOyTKHU 1 30MTKH KOMIIaHii 3a gaHuid niepiof. 6. 3Bit
Mpo Mepepo3noAiieHHiH MPUOYTOK MICTUTH 1H(OpMaIilo MPO BUKOPUCTAHHS aKI[IOHEPHOTO Kamitamy i
PO PiBEHb JAMBINICHIIB aKI[IOHEPIB.

UNIT II. BASICS OF MARKETING. AIRLINE MARKETING

Exercise 1. Learn the following words and word combinations.

scope - cepa

overcapacity - nepeBHpofiynuTBo; MIePEBUIIICHHS
IPOIO3HUIIiT HaJ[ TOMUTOM

market share - OIS Ha PUHKY

result from - OyTH HACIIIKOM; BiIOyBaTHCS B pe3yJbTaTi

project - IUTaHyBaTH

desperate - JIOBEJIEHMIA JI0 BiT9aro

giveaway - TOBap, MO BIJJIAETBCSA OE3KOMTOBHO a0o

MPOJAEThCA 33 3HIDKEHOI I[iHOIO (B
PEKJIAMHUX IIUJISIX)

margin - Mapxa; pI3HUIM MK coOiBapricTio Ta
IIHOIO TTPOJIAXKY

mergers and - 3JIUTTS Ta MOTJIMHAHHS

acquisitions

no wonder - HEIIMBHO

television commercial - TemeBi3iliHU# peKIaMHUI POIMK

direct mail - TIpsiMa TIOINTOBA PEKJIaMa

selling effort - oprasizalfist Ta CTHMYJIIOBaHHS 30yTy

marketing mix - MapKETHMHIOBHH  KOMIIIEKC; bopmyna
MapKeTHHTa

marketing tool - IHCTPYMEHT MapKeTHHIa; 3aCci0 MapKeTHHTa

dispose of smth. - mpomaBaTH; 30yBaTH; MO30yBaTUCS

watchword - IIEeBi3] KIIOYOBE CIOBO

go to great lengths - poOUTH BCe MOKJIMBE; MOKIAgaTH BEIUKI
3yCHILIS

business activity - Oi3Hec-omepartist

deprivation - mmo30aBIIEHHS

awareness - 00i3HaHiCTh; TOIH(OPMOBAHICTH

special deal - 3HIDKKA; yrojia Ha MUTbrOBHX YMOBax

consumer research - BHBYCHHS CIIO)KUBYOTO MOITUTY

focus group - Tpyma ajisi TeMaTHYHOTO OITUTYBAHHS,

(hoxyc-Tpyra (OCHOBHHI METOJI SIKICHOT'O
MapKETHHTOBOT'O JIOCITi/PKEHHS)

salespeople - TOPTiBEIbHUI TIEPCOHAI
marketing strategy - MapKEeTHHIOBa CTpaTeris
revenue objectives - 3aIJIaHOBaHA BUPYYKa

Exercise 2. Read, translate and give the gist of text 1.

Text 1. The Scope of Marketing
Today's central problem facing business is not a shortage of goods but a shortage of customers.
Most of the world's industries can produce far more goods than the world's consumers can buy. Overca-
pacity results from individual competitors projecting a greater market share growth than is possible. This
in turn leads to hypercompetition. Competitors, desperate to attract customers, lower their prices and add
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giveaways. These strategies ultimately mean lower margins, lower profits, some failing companies, and
more mergers and acquisitions. Marketing is the answer to how to compete on basis other than price.
Because of overcapacity, marketing has become more important than ever.

What does the term marketing mean? Marketing must be understood not in the old sense of making
a sale - 'selling’ - but in the new sense of satisfying customer needs. Many people think of marketing only
as selling and advertising. And no wonder, for every day we are bombarded with television commercials,
newspaper ads, direct mail and sales calls. Someone is always trying to sell us something. It seems that
we cannot escape death, taxes or selling! But selling starts only when you have a product. Marketing
starts before a product exists. Marketing is the homework your company does to figure out what people
need and what your company should offer. Marketing determines how to launch, price, distribute, and
promote your product/service offerings to the marketplace. Marketing then monitors the results and
improves the offering over time. Marketing also decides if and when to end an offering.

All said, marketing is not a short-term selling effort but a long-term selling effort. When marketing
is done well, it occurs before the company makes any product or enters any market; and it continues long
after the sale.

Therefore, you may be surprised to learn that selling and advertising are only the tip of the
marketing iceberg. Although they are important, they are only two of many marketing functions, and
often not the most important ones. This does not mean that selling and advertising are unimportant.
Rather, it means that they are part of a larger marketing mix - a set of marketing tools that work together
to affect the marketplace. Thus, marketing may be defined as: Marketing is the art and science of
choosing target markets and getting, keeping, and growing customers through creating, communicating,
and delivering superior customer value. The marketer's watchwords are quality, service, and value.

The most basic concept underlying marketing is that of human needs. A human need is a state of
felt deprivation. Humans have many complex needs. These include basic physical needs for food,
clothing, warmth and safety; social needs for belonging and affection; and individual needs for
knowledge and self-expression. People have narrow, basic needs (e.g. for food or shelter), but almost
unlimited wants. However, they also have limited resources. Thus they want to choose products that
provide the most satisfaction for their money. When backed by an ability to pay - that is, buying power -
wants become demands. Consumers view products as set of benefits and choose products that give them
the best bundle for their money.

Outstanding marketing companies go to great lengths to learn about and understand their customers'
needs, wants and demands. They conduct consumer research and focus groups. They analyze customer
complaint, inquiry, warranty and service data. They train salespeople to be on the look-out for unfulfilled
customer needs. They observe customers using their own and competing products, and interview them
about their likes and dislikes. Understanding customer needs, wants and demands in detail provides
important input for designing marketing strategies with high revenue objectives.

To persuade customers to buy a product or service a marketer takes four steps:

Attention. Marketing must first attract the customers' attention to the product. Customers become
aware of a product and know it is available.

Interest. Then, marketing must create an interest in the product. Customers will develop an interest
in the product.

Desire. Next, marketing must develop a desire to own or have the product so that customers
actively want the product.

Action. Finally, marketing must prompt action to purchase, so that customers take steps to buy the
product - for example, by going to the shop or ordering it online.

Exercise 3. Answer the questions.

1. What is the problem facing business today? What does overcapacity lead to? 2. Why is
marketing contrasted to selling? What is the difference between them? 3. What does marketing
determine? 4. What role do selling and advertising play in the marketing mix? 5. What is marketing? 6.
How are human needs defined and classified? 7. When do wants become demands? 8. What do marketing
companies perform to learn about their customers? 9. What are the four steps of marketer?

Exercise 4. Give Ukrainian equivalents:

shortage of goods; competitor; in turn; to lead to hypercompetition; to attract customers; tax; lower
profit; newspaper ads; to launch, price, distribute, and promote the product/service; tip of the marketing
iceberg; warranty and service data.



Exercise 5. Give English equivalents:

3MUTTS Ta IOTJIMHAHHS; 33/J0BOJIHATH TOTPEOM CIIOKMBAdiB; TEIEBI3IMHUN pEKIaMHHH POJHK;
KOHKYpYBaTH;, peKjiama; JOBIOCTPOKOBHH;  KOPOTKOCTPOKOBHH;,  CYKYIHICTb  MapKETHHIOBUX
IHCTPYMEHTIB; 30MTKOBa KOMIIaHisl; IEPEKOHYBATH MOKYIILIB; KyMiBelIbHA CIIPOMOXKHICTB.

Exercise 6. Translate into English.

1.3naTHicTs BUPOOJSATH Oinblie, HDX MOTPeOyE MOMUT, MPU3BOAUTH IO TINEPKOHKYpEHIi. 2.
MapkeTHHT BU3HAYa€, SIK BUIIYCTUTH HOBHI TOBap Ha PHHOK, SIKY I[iHY BCTAHOBUTH, SIK PO3MOIUIATH Ta
CHIPUSATH MPOJaKy HOBOI'O TOBapy Ta MOCIYr Ha PUHKY. 3. 30yT Ta pekiiama BaxKIIHBi, aie BOHH € JIMIIC
IBoMa 3 0araThbOX MapKeTWHTOBHX (YHKIIH. 4. BaxkaHHS TEpeTBOPIOIOTHCS HA IOMUT, KOJIH BOHH
MiAKPITUTIOIOTHCS  KYITIBENBHOI CIIPOMOXKHICTIO. 5. MapKeTHHIOBI KOMMaHii MpOBOAATH BUBYCHHS
CIIO’KMBYOTO MOMUTY Ta (QOKYC-TPYIH, aHATI3YIOTh 3alUTH, CKAPTH, TAPaHTIHHI Ta eKCIUTyaTamiiHi TaHi.

Exercise 7. Complete the article about a supermarket in-store event using words from the box.
awareness customers identified
meet promotional

This week, Tesco launches its biggest project 'Healthy Life' - illustrating its commitment to
helping (1)... lead a healthy and active lifestyle. The supermarket has (2)... health as an important
customer concern and is working to (3) ... he needs of its customers. Hundreds of (4)... operations for
healthy products will run all over the store, from fresh produce through to grocery and healthcare lines.
Tesco hopes that (5) ... of its initiative will be high.

Exercise 8. Replace the underlined words and expressions with alternative words and expressions
from the box.
afford high quality revenue objectives
convenient price socially acceptable

1. Mobile phones are fashionable and attractive to the youth market.

2. We have a reputation for providing good standard mobile phones.

3. The cost to user of mobile phones is kept down because they are subsidized by the network
providers.

4. This means more people can have the money to buy the product.

5. More and more, customers buy mobile phones online because it is more accessible.

6. Expected earnings from 3G phones were not met when the products were first launched.

Exercise 9. Find sentences with modal verbs and translate them.

Exercise 10. Put the words in each sentence in the correct order.
1. attention, attract, must, product, the, to, We.

2.aware, become, of, People, brand, the, will.

3.an, create, in, interest, need, product, the, to, We.

4. an, customers, develop, in, interest, product, the, to, want, We.
5.4, desire, develop, must, our, own, product, to, We.

6. People, steps, take, the, brand, to, try, will.

7.action, buy, must, prompt, it, to, We.

Exercise 19. Learn the following words and word combinations.

branding - HaJIaHHS TOBapy TOPTIiBEIbHOI MapKH

travel insurance - TYpUCTHYHA CTPaXOBKa

emergency - EeKCTpEeHUH BUIAJOK; HaJA3BUYaliHa
CUTYaIlis

outlet - TOpTiBeNbHA TOYKa

promotional mix - KOMILJIEKC CTUMYIIOBaHHSA 30yTy

promotional tool - 3acib crumyioBaHHs (30yTy)

competitor - KOHKYPEHT

sales force - TOPrOBUI NEPCOHAI; MITAT MPOJIABIIB

underestimate - HEIOOLIHIOBATH
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ease-of-use - TPOCTOTa y BUKOPUCTAHHI

environmentally-friendly - exonoriuHo HewkigIMBUIA

mind-set - TO4YKa 30py

two-way - JIBOCTOPOHHIMH

helpline - cmyxk0ba  TenedoHHOI  JOMOMOTH;

TenedoH rapsiuoi JiHii
Exercise 20. Read, translate and give the gist of text 3.

Text 3. The Ps and Cs of Marketing

The marketing mix is the combination of techniques used to market a brand. The techniques are
often called the Ps. Originally there were four Ps:

* Product (or service): what you sell, and the variety or range of products you sell. This includes the
quality (how good it is), branding, and reputation (the opinion the consumers have) of the product. For a
service, support for the client after the purchase is important. For example, travel insurance is often sold
with access to a telephone helpline in case of emergency.

* Price: how much the product or service costs.

* Place: where you sell the product or service. This means the location of your shop, or outlet, or the
accessibility of your service - how easy it is to access.

» Promotion: how you tell consumers about the product or service. The promotional mix is a blend
of the promotional tools used to communicate about the product or service — for example, TV advertising.

Today some marketers talk about additional four Ps:

* People: how your staff (or employees) are different from those in a competitor's organization, and
how your clients are different from your competitor's clients. This also refers to the knowledge, skills and
personality of sales force and who come into contact with the customer.

* Physical presence: how your shop or website looks.

* Process: how your product is built and delivered, or how your service is sold, delivered and
accessed.

» Physical evidence: how your service becomes tangible. For example, tickets, policies and
brochures create something the customers can touch and hold.

Some writers would add one more 'P: packaging. The importance of packaging is often
underestimated: it attracts the buyer's attention, it explains the benefits of the product inside, it describes
the contents, and of course it also protects the product during handling and contributes to convenience and
ease-of-use. And these days environmentally-friendly packaging can give a product a competitive
advantage.

A basic criticism has been that the 4Ps represent the seller’s mind-set, not the buyer’s mind-set.
Robert Lauterborn suggested that sellers should first work with 4Cs before setting the 4Ps. Look at 4Cs:

* Customer solution (not product) aims to find a solution to a customer 'problem' by offering the
right combination of products and services to satisfy particular customer needs.

» Customer cost (not product): the price paid by the customer for the product. It includes the "price"
related to not buying another product of the same or another type. For example, someone who buys a
sophisticated mobile may not then have the money to buy a laptop computer that they wanted.

» Convenience (not place): distributing our products in the way that is most convenient for each
type of customer. We have to decide, for instance, how many new shops to open and where they should
be.

» Communication (not promotion) with the customer: customers are informed about products
through advertising and so on, but the communication is two-way because customers also communicate
with us, for example through telephone helplines. This is a good way to find out more about what our
customers want, and to change or improve our offering and to get ideas for new offerings.

Once the marketer thinks through the 4Cs for the target customer, it becomes much easier to set the
4Ps.

For marketing to work, you must manage the marketing mix in an integrated scheme. Yet in many
companies, responsibility for different elements of the marketing mix is in the hands of different in-
dividuals or departments.

Exercise 21. Answer the questions.
1. What are 4 Ps of the marketing mix? Characterize each element. 2. What are additional four Ps?
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Describe them. 3. Why shouldn’t marketers underestimated importance of packaging? 4. Why are 4Ps
criticized? 5. What did Robert Lauterborn suggest?

Exercise 22. Give Ukrainian equivalents:

access to a telephone helpline in case of emergency; promotion; to underestimate; to attract the
buyer's attention; to contribute to convenience and ease-of-use; to improve offering; for instance;
environmentally-friendly packaging; buyer’s mind-set; sophisticated mobile.

Exercise 23. Find in the text ‘noun + noun’ or ‘noun’s + noun’ combinations in which the first noun
modifies or describes the second. Translate them.

Exercise 24. A small educational games company is launching a new game to teach English
vocabulary to beginner learners. The marketing manager is making a presentation using slides. Read it
and discuss.

Marketing a new product
The Educational Game
PRODUCT
* Innovative way to learn new vocabulary
» Launch: how we are planning to introduce the product onto the
market
PLACE
+ Distribution: high street retailers and mail order via website and
catalogues
+ Delivery: five days by mail order or straightaway in shops
PROMOTION
» Advertising: in children's magazines
» Direct marketing: insert catalogue in Parent magazine
PEOPLE
» Customers: educated, city-dwellers with pre-teen children,
school teachers
» Competitors: they have a larger sales force to sell their products
PRICE
» Premium pricing: 20% above market average for a CD-ROM
» Special deals: 15% discount for schools

Exercise 25. Do the following words and expressions refer to product, price, place, promotion, or
people? Look at exercise 24 to help you.

accessibility | customers discounts location sales force
branding delivery distribution | quality special
deals
competitors | direct launch reputation support
marketing

Exercise 26. A marketing manager is talking about the marketing mix for a brand of cleaning
products. Choose the correct words from the brackets to complete the text, and then match each speech
with one of the Ps.

1. Our (staff/ reputation/competitors) are highly motivated. We really believe in our brand. For
example, our (consumer, employees/ customers) are always trying to improve what we do. 2. Our
(tools/range /support) includes detergent, toothpaste and sponges. 3. We use a lot of (advertising/
presence/promotional), usually in women’s magazines. 4. You can find the brand in supermarkets and
local shops. The (tangible/accessibility/process) of our (staff/ mix/ outlets) is important. We need to be in
a lot of (locations/supports/distributions) so that we are easy to find. 5. We are more (accessibility/
reputation/expensive) than our (competitors/ staff/ sales) but we offer good credit terms and we
sometimes run special (deals/ processes/ support).

Exercise 27. Complete the text using the words from the box.
| advertising  mix price products promotional |




Marie Curie Cancer Care is reviewing its marketing strategy in an attempt to attract a wider
audience. It will stop using (1) ...techniques, such as mailings and events. Television (2) ... and face-to-
face marketing are both being tested in a bid to supplement the charity's typical over-60s donor base with
younger supporters. If tests prove successful, they will become part of Marie Curie's marketing (3) ... In
addition, Marie Curie Cancer Care is expanding its online shop. Stylish handbags at a (4) ... of $10 are
attractive to younger customers. Marie Curie Cancer Care says it is responding to customers' needs and

wants by selling elegant fashion wear (5) ...

Exercise 28. Learn the following words and word combinations.

market segment

competitive marketplace

business unit

positioning

total product

value-for-money

brand name

brand image

product launch

Unique Selling Point
analysis (USP)

industrial product

consumer product

durability

sales channel

marketing action

sales figures

consumer buying pattern
survey

benchmarking

target market

mass market

brand awareness

market leader

product mix

product line

brand loyalty

breakeven volume
mark-up

PHHKOBHI CErMEHT

PYHOK 3 KOHKYPEHIIIEIO

E€KOHOMIYHHHN CY0’ €KT
MO3UIIIFOBAHHS; PO3MIIICHHS
CYKYITHUI TIPOIYKT

CITIBBIJHOIIIEHHS IIIHU Ta SIKOCTI1
TopriBenbHa Mapka; padpudHa Mapka
peryTailisi TOpriBe’IbHOT MapKH
BUITYCK HOBOT'O TOBapy Ha pUHOK
aHam3  YHIKaJbHUX  BJIACTUBOCTEH
TIPOTYKITii

MIPOMHUCIIOB] TOBapH

CIOXHUBY1 TOBapH

CTPOK MPHUIATHOCTI/ eKCILTyaTalil
KaHaJ 30yTy

MAapKCTUHI'OBA aKHiH; MAapKETHHTOBE
3YCHILIA
JaHI TIPO TIPOAaXK; OOCATH MPOIAKY

TIPOTYKITii

MOJIeITb TTIOBE/IIHKHU CIIOKHMBava
ONHUTYBaHHS; TOCIIPKECHHS
MTOPIBHSUTHHUH aHaIi3

IIIJTHOBUH PHHOK; PUHOK 30yTy

PUHOK TOBapiB MacOBOTO BUPOOHHUIITBA
BITI3HAHHICTH OpeHIy

PUHKOBHH JIiAep

TIepeITiK TOBapiB

ACOPTUMEHT TOBApiB

yIog00aHHs TIeBHOL MapKu;
MIPUXWIBHICTH J0 TIEBHOTO OpEeH Ty
MiHIMaJTBPHUH PIBEHb PEHTA0ETHHOCTI
HAaI[IHKa; PI3HUI MDK COOIBapTICTIO Ta
LiHOO TTPOJAXKY

Exercise 29. Read, translate and give the gist of text 4.

Text 4. Marketing Strategy

A company’s marketing strategy describes how company will position itself and the products it
sells or the services it provides in the competitive marketplace. Marketing strategy is the marketing logic
by which the business unit hopes to achieve its marketing objectives. It shows how strategies for target
markets and positioning create the firm's differential advantages. Marketing strategy should detail the
market segments on which the company will focus. These segments differ in their needs and wants,
responses to marketing, and profitability. The company should put its effort into those market segments it
can best serve from a competitive point of view.

Company should develop a marketing strategy for each targeted segment.

A marketing strategy includes the following:

+ Analysis of the wider business environment. More specifically: the political / legal, economic,
social / cultural, and technological factors operating in the external world.

« Identification and analysis of target markets for new products in terms of volume and revenue.
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* The marketing budget.

* Elements of the marketing mix, and their timing.

Marketers often use the term ‘total product offer’ to reinforce the diversity of elements that make
up a 'product’. These include value-for-money (= relationship between quality and price), brand name and
image, packaging, convenience of sales channel, service, speed of delivery, the guarantee, etc.

The company’s marketing plan is the written document which details the marketing methods
selected (advertising, price, promotion, etc.) and specific marketing actions or marketing activities. It
should open with a short summary of the main goals and recommendations in the plan. The marketing
plan also examines the resources needed (both financial and human) to achieve specified marketing
objectives, such as an increase in sales or a successful product launch, over a given period of time.

You can develop a marketing plan using the stages known as AOSTC (Analysis, Objectives,
Strategies, Tactics and Control).

Analysis Current market | Information on the competitors and the
situation marketplace.
Competitor The competition in the marketplace. You
analysis will also need to include information on
their positioning - how they control the way
the customers see the products or services.
Product / What you sell or provide, and your Unique
service Selling Point analysis (USP) - that is, what
distinguishes your product or service from
others on the market.
Target market | Your customer groups or segments - for
example teenagers or business people.
Objectives | Marketing What you want to achieve, in terms of
goals image and sales.
Set SMART * Specific - Be precise about what you are
objectives going to achieve.
» Measurable - Quantify your objectives.
* Achievable - Are you attempting too
much?
* Realistic - Do you have the resources to
make the objective happen (manpower,
money, machines, materials, minutes)?
* Timed - When will you achieve the
objective? (Within a month? By February
2015?)
Strategies The approach | « Which market segment?
to meeting the | « How will we target the segment?
objectives » How should we position within the
segment?
Tactics Convert your * Product
strategy into * Price
the marketing | * Place
mix, including | ¢ Promotion
the 4 Ps
Control Tracking How will the success of the marketing plan
be measured? How will each activity will be
assessed?

The summary of the marketing plan helps top management to find the plan's central points quickly.
A table of contents should follow the summary.

The market consists of many types of customers, products and needs. The process of dividing a
market into groups of buyers with different needs, characteristics or behavior, who might require separate
products or marketing mixes, is market segmentation. Who is the target market for a product? An
immediate distinction is whether it is an industrial product (B2B: business-to-business), or a consumer
product (B2C: business-to-consumer) aimed at end-users. A third category might be products for use in
hospitals, schools, public transport, etc (B2G: business-to-government). There is one more type of selling
when individual people sell to other individuals (C2C: consumer to consumer).

In relation to consumer products, the 'mass market' is becoming an old-fashioned concept. Products
are increasingly targeted at specific market segments. There are four basic methods for segmenting a



market:
*Product-related: comfort, safety, luxury, good value-for-money, convenience, durability, etc.
» Demographic: age, gender, education, family life cycle, income, occupation, etc.
* Psychographic: attitudes, lifestyle, opinions, values, self-image, etc.
» Geographical: region, post code, etc.

Exercise 30. Answer the questions.

1. What is marketing strategy? 2. What does marketing strategy include? 3. What is the company’s
marketing plan? 4. What does abbreviation AOSTC stand for? 5. What are the stages of a marketing plan?
6. What is USP analysis? 7. What are SMART objectives? 8. What does a marketing plan start with? 9.
What is market segmentation? 10.What are the product categories? 11. What are the methods for
segmenting a market?

Exercise 31. Give Ukrainian equivalents:

company’s marketing strategy; to position the products in the marketplace; to achieve marketing
objectives; business unit; to focus on market segment; political /legal; social/ cultural; analysis of target
markets in terms of volume and revenue; increase in sales; to examine the resources; sales figures;
promotion; speed of delivery; competition in the marketplace; profitability; industrial product.

Exercise 32. Give English equivalents:

PrHOK 3 KOHKypeHIIi€I0; BiJIMIHHI TiepeBaru; morpedu Ta Oa’kaHHs; PO3pOOJSITH MapKETHHTOBY
CTpaTerito; rapHe CIIBBIIHOIIEHHS I[IHA Ti SKOCTi; JIOKJIACTH 3yCWJIb; MOPIBHSUIBHUN aHalli3; PHHOK
TOBapiB MacOBOTO BHPOOHHMIITBA; MPOIO3HIliS CYKYITHOTO MPOJYKTY; KOHKPETHa MapKETHHIOBA aKIlis;
MapKeTHHTOBUH TIJIaH;  YCHIIIHUA BHIYCK HOBOTO TOBAapy Ha PUHOK; TPYAOBI PECypCH; aHai3
VHIKaJIbHUX BIIACTHBOCTEH MPOAYKIIiT, CIIOXKUBYI TOBAPH; 3aCTapisia KOHIIETIIis.

Exercise 33. Fill in the missing letters.

1. Data collected by market research can be '‘qu_ _ _itative' (= factual and numerical), or 'qu_ _
itative' (= opinions and attitudes that are difficult to measure).

2. Another word for the final consumer of a product isthe'e . -u_ _r".

3. The relationship between quality and price is referredtoas'v.___ -for-m_ ' This phrase
often has the word good in front, to mean ‘cheap’ (‘cheap’ can have a negative connotation).

5. Marketers tend to emphasize 'be_ _ _its' (= advantages for the customer) rather than 'fea_ _ _es'
(from a product design point of view).

6. A name or symbol that has legal protection is called a 'registered tr | K.

7. Two key concepts in pricing are 'm_ __-up' (= the % added to the cost to give the selling price)

and 'br_ __even volume' (= the sales volume at which the product starts to make a profit).

Exercise 34. Make word combinations with market and marketing using words from the box.
Then match the word combinations with the definitions below.

methods mix plan segments strategy target |

market
Marketing

groups of consumers with similar needs or purchasing desires

the consumers, clients or customers you want to attract

a definition of the company, the product / service and the competition
detailed information about how to fulfill the marketing strategy

the technigues you can use to communicate with your consumers

the combination of different elements used to market a product or service

Exercise 35. Complete the text with the words in the box.



brand awareness | brand names | brand loyalty
market leader product lines | market share
product mix profitability

Proctor & Gamble is a very well-known company in the household and personal goods sector. It
has 22 different (1)... including baby care, cosmetics, household cleaners, laundry, etc. The combination
of all these makes up P&G's (2)... (= product range). P&G has many well-known (3)... such as Ariel,
Pampers, Pantene, but notice that the brand is not the same as the company name (although in other
companies it is). P&G spends a very large marketing budget maintaining the (4)... of its customers - it
wants them to be satisfied and committed to further purchases. But even larger sums are needed when it
launches a new product- (5)... (= brand recognition) has to be built up from zero. What about P&G's
pricing policy? Well, they are a (6)... so they don't have to set artificially low prices to gain sales volume
and (7)... Instead, they can focus on (8)... - maximizing revenue and minimizing costs.

Exercise 36. Marketers use a PEST analysis to look at the business environment. Typical items are
listed a)-1). Put them into the correct category below.

a) age structure of population

b) changes in the fixed and variable costs of business

€) new production methods

d) national government policy

e) changing tastes and fashions

f) level of consumer spending

g) developments in IT that open new markets

h) the economy, inflation, unemployment

i) EU/WTO regulations

J) lifestyle changes (e.g. more people living alone)

k) pressure from environmental or fair trade lobbies

1)  breakthrough products arising from R&D

1. Political / legal factors:
2. Economic factors:

3. Social / cultural factors:
4.Technological factors:

Exercise 37. Match the words to their definitions. Be careful — they are very similar.

1. benefit a) something a customer asks for, or needs

2. characteristic b) something that makes a product special or
different from others

3. feature c) (usually plural) exact technical details, or a
detailed instruction about how something should
be made

4. requirement d) advantage that a customer gets if they buy the
product

5. specification e) important, special or interesting part of a
product

6. USP (unique f) typical quality that makes a product

selling point) recognizable

Exercise 38. Learn the following words and word combinations.

motivation research - MOTMBALIMHMANM  aHalli3;  BHUBYEHHS
CMakiB, 3amuTIB Ta  ICHUXOJIOTII
MOKYTIIIiB

merchandise - TOBapH; TOBap

advertising appeal - pexiiaMHa KOHIerist/ izes

secondary data - BTOPHUHHI JIaHi; TIOXiTHI 1aHi

sales figures - J1aHi Mpo NpoJax

government agency - JIep’KaBHUIA 3aKmaj

questionnaire - aHKera

desk (desktop) research - "nocmimkeHHst 3a cronom"


http://www.multitran.ru/c/m.exe?t=1770009_2_1
http://www.multitran.ru/c/m.exe?a=110&t=88621_1_2&sc=14

field research - Jo3akabinerne” JIOCITI K EHHS;
[IOJIBOBE JOCIIIPKEHHS
in-depth interview - morauOieHe ONnUTYBaHHS

Exercise 39. Read, translate and give the gist of text 5.

Text 5. Market Research

How do marketers identify the need for new products? How do they decide how to improve
existing products? One very important way is by collecting data using market research. Marketing
research is the process of gathering information about a market, analyzing it and interpreting it.

Although the term market research is often used to mean the same thing, technically it only refers to
research into a specific market. Consumer research - used to discover behavior patterns (how people act)
and customer needs is an essential element of marketing research. Motivation research investigates the
psychological reasons why individuals buy specific types of merchandise, or why they respond to specific
advertising appeals.

The easiest data to collect is information that is already available (= secondary data). This may be
internal company data such as the company's sales figures broken down according to different categories
(customers, product lines, territories, etc). Alternatively, it may be external data found in published
sources such as reports from government agencies, trade associations and professional research firms.
Another important source of secondary data is simply to look at consumer buying patterns in more
developed markets where the product is already available.

Data collected for the first time (= primary data) is more difficult and expensive to obtain, but will
give answers to the exact questions that marketers are interested in. It includes both quantitative
information (e.g. carrying out a survey with customers using a questionnaire) and qualitative information
(through focus groups, etc). Another important source of primary data is looking at the activity of
competitors (= benchmarking), and this may include looking at their product range or their marketing
strategy. A new area of research is ethnography: studying people's behavior in natural environments.

There are two main methods of consumer research:

» desk (desktop) research or secondary research: an analysis of the information you can find easily
without leaving your desk. Examples include the internet, books, news magazines, and government
statistics.

» field research or primary research: involves talking to people and finding out what they think
about a market, a product, a business sector, etc. It is usually carried out by market research institutes.

Consumer research can be either qualitative or quantitative. In qualitative research, small group
discussions or in-depth interviews with consumers are used to understand the problem better. Quantitative
research involves collecting, or gathering large samples of data (for example, on how many people use
different products), followed by statistical analysis — examining, or analyzing, the data. Quantitative
research is often used to investigate the findings from qualitative research.

Of all the techniques above, focus groups in particular can give very valuable information. A small
group of consumers sit in a room and discuss a variety of predefined topics. They might be asked how
they feel about a particular brand, which of various possible new advertising campaigns they prefer, what
ideas they have for improving an existing product, etc. The interview is usually recorded for later
analysis.

Exercise 40. Answer the guestions.

1.What is marketing research? 2. What types of research do you know and what are they used for?
3. What are secondary and primary data? 4. How many methods of consumer research are there? What do
they analyze? 5. What technique can give very valuable marketing information?

Exercise 41. Give Ukrainian equivalents:
to identify the need; to analyze and interpret information; published sources; merchandise; internal
company data; primary data; desk (desktop) research; secondary data; company's sales figures.

Exercise 42. Give English equivalents:

BTOPWHHI J[aHi, BU3HAYMTH 3aBJAHHSI, aCOPTUMEHT; JOCTI/KEHHS CIOXKHBAIILKOIO IOMHTY; 30ip
MMOTOYHOT MapKeTHHroBOI iHQOpMaIlii; ,,i03akabiHeTHe” ITOCHiIPKEHHs; KUIbKICHA iH(popMallis; sKicHa
iH(OopMalis; HagaBaTu WiHHY iH(OpPMALiio; peKlaMHa KaMIIaHis.



Exercise 43. Read the notes on marketing research techniques, translate them paying special
attention to the marked words.

Focus group: small group from the target group plus moderator to mediate or run the session.
The moderator prepares questions for the session.

Package test: used to taste ideas for new packaging, could be in focus group.

Taste test: used to taste what consumer think about new flavors.

Home test: consumers try the product at home, in a real situation.

A self-administrated questionnaire is completed (or filled in) by the respondent, and an
interviewer-administrator questionnaire is filled in on behalf of the respondent by an interviewer.

Telephone surveys are carried out by telephoning the respondent and asking questions.

A mail survey is mailed to the respondent, who completes it and posts it back.

Online surveys are administrated on the internet.

Mystery shopping: a person poses as a consumer and checks the level of service and hygiene in a
restaurant, hotel or shop.

Omnibus surveys: a market research institute carries out (or conducts) research for several
companies at the same time. A long survey is given to respondents: some institutes have a panel of
existing respondents who are accustomed to answering the survey.

Exercise 44. Complete the text with words from the box.

mail moderator focus group
package mystery shopper omnibus
taste telephone respondent
interviewer-administrator

1) A lot of marketing research institutes carry out ... surveys. They ring people at home and ask
them questions.

2) A ... is a small discussion group, led by ... who asks questions to get detailed and qualitative
information.

3) A marketing research institute may prepare a lengthy ... survey which it posts to consumers at
their homes. These ... surveys have questions from several different companies on them.

4) Some questionnaires are completed by the ... (self-administered questionnaires) and some are
completed by the interviewer (...-... questionnaires).

5) ... surveys are usually carried out in-store to assess the levels of service quality and cleanliness.

6) A ... test is designed to find out what consumers think about packaging, and a ... test is to find
out what they think about the flavors of a product.

Exercise 46. Translate the sentences into Ukrainian.

1. Focus groups can give very valuable information, can’t they? 2. Consumer research can be
either qualitative or quantitative. 3. The evolution of marketing could be caused due to overcapacities in
the last decades. 4. A firm will be able to attain the highest sales in a year. 4. Marketing can’t take
place between businesses and organizations. 5. He couldn’t have persuaded a consumer to buy a
product. 6. The consumer will be able to search for alternative means to satisfy the need / want. 7.
Computer-based information systems can be employed, aiding in a better processing and storage of data.
8. Marketing researchers could have used computer systems to convert data into information but they
decided not to. 9. Technological advancements will be able to facilitate lesser barriers between countries
and regions. 10. Although Wunderman could have been the first to use the term direct marketing, the
practice of mail order selling essentially began in the U.S. upon invention of the typewriter in 1867. 11.
He can’t have developed the marketing plan in two days.

Exercise 62. Learn the following words and word combinations.
the World Intellectual ~ Property - BcecBitHs oprani3aiis

Organization IHTEJIeKTyaJIbHOI BIACHOCTI
agency - Opraizarfisi; 3aKias
intellectual property - iHTeneKTyajbHa BJIACHICTh

granted patent - BUJAHUHA NaTEHT


http://en.wikipedia.org/wiki/Overcapacity
http://en.wikipedia.org/wiki/Business
http://en.wikipedia.org/wiki/Organization
http://en.wikipedia.org/wiki/Information_system
http://en.wikipedia.org/wiki/Marketing_research
http://en.wikipedia.org/wiki/Typewriter

patent protection

industrial design

copyright

dissemination

interwoven

the Agreement on Trade-Related
Aspects of Intellectual Property
Rights

the World Trade Organization

The UK Patent Office

counterfeiting

infringement

3aXUCT MaTEHTHUX IpaB
IIPOMHUCIIOBUH 3pa30K
aBTOPCHKE MPaBo
PO3IIOBCIOKEHHS
TIEPeIUTITATUCS

VYrona po TOPTOBENbHI
ACTIEKTH TIPaB IHTENEKTYaJIbHOI
BJIACHOCTI

CeiToBa opraHizaiiis TOpriBi

ITatentne BIZIOMCTBO
Benmukobpuranii

migpoOKa; danbcudikamis;
HE3aKOHHE BUKOPUCTaHHS
(hipMOBHX 3HAKIB
MPaBONOPYIICHHS

(BUKOpHUCTaHHS TpaB BIaCHUKA
TOPTiBENbHOI Mapku 0e3 Horo

3T0JTN)
infringer MIPaBOIOPYIIHUK
trademark holder BJIACHUK TOPTiBEIbHOTO 3HAKY
disclaimer BimmoBa
The Consumer Protection Act - 3aKOH TPO  3aXUCT  TIpaB

CITO)KUBAYIB
Exercise 63. Read, translate and give the gist of text 8.

Text 8. Legal Aspects of Marketing

The World Intellectual Property Organization (WIPQ) is one of the specialized agencies of the
United Nations (UN) system of organizations. The "Convention Establishing the World Intellectual
Property Organization" was signed at Stockholm in 1967 and entered into force in 1970. However, the
origins of WIPO go back to 1883 and 1886, with the adoption of the Paris Convention and the Berne
Convention respectively. Both of these conventions provided for the establishment of international
secretariats, and both were placed under the supervision of the Swiss Federal Government.

The World Intellectual Property Organization gives the following definitions:

Intellectual property refers to creations of the mind: inventions, literary and artistic works, and
symbols, names, images and designs used in commerce. Intellectual property is divided into two
categories:

1) Industrial property includes patents, which give the exclusive right to make, use and sell an
invention in a given geographical area; trademarks (words or symbols that differentiate a company); and
industrial designs. A granted patent gives patent protection for 20 years in the UK. After that time you
must renew the patent. In order to trademark or register your trademark, you will need to complete a
registration process.

2) Copyright protects literary and artistic works. Copyright protected work includes novels, plays,
films, musical works, artistic works such as drawings, photographs, and architectural designs. Copyright
protected work is said to be subject to copyright.

Note: The copyright symbol: ©

The trademark symbol: ™

The registered trademark symbol: ®

The mission of WIPO is to promote through international cooperation the creation, dissemination,
use and protection of works of the human mind for the economic, cultural and social progress of all
mankind. Its effect is to contribute to a balance between the stimulation of creativity worldwide, by
sufficiently protecting the moral and material interests of creators on the one hand, and providing access
to the socio-economic and cultural benefits of such creativity worldwide on the other.

WIPO's cooperation for development program is closely interwoven with governmental and
intergovernmental cooperation, including WIPO's agreement with the World Trade Organization (WTO),
whereby WIPO assists developing countries in the implementation of WTO's Agreement on Trade-
Related Aspects of Intellectual Property Rights.



Legal problems may arise if another person has used copyright protected work without the
copyright owner's (or holder's) permission. The UK Patent Office says:

Intellectual property (IP) crimes include counterfeiting and piracy. Counterfeiting is deliberate or
willful trademark infringement and piracy is willful copyright infringement. Infringement means
reproducing copyrighted work without permission from the IP owner.

If a trademark or copyright holder believes that another person has made unauthorized use of a
trademark or copyright, then this may lead to a lawsuit, where one company takes another to court to
enforce the trademark or copyright. The infringer, the person who has broken the copyright, may have to
pay damages or compensation to the trademark holder, normally financial.

Most company websites include a page called terms and conditions or copyright information.
Visitors to the site must agree to the terms and conditions. The terms and conditions usually contain what
a visitor may download or take from the web page and post or upload to the web page, and a disclaimer to
say the company is not legally responsible for the misuse of its web pages.

One of the most significant present-day tasks of WIPO is to demystify intellectual property, so that
it is recognized as a part of everyday life not only by those directly involved in it at governmental, legal,
industrial and cultural levels, but also by any others who compose civil society, whether in non-
governmental organizations or small businesses, whether farmers, public health personnel, individual
creators or simply interested members of the general public. Realizing the importance of small- and
medium-sized enterprises (SMESs) is the backbone of market economies.

Some critics of intellectual property, such as those in the free culture movement, characterize it as
intellectual protectionism or intellectual monopoly and argue that the public interest is harmed by
protectionist legislation such as copyright extension, software patents and business method patents.
Although the term is in wide use, some critics reject the term intellectual property.

The Consumer Protection Act is a law that protects the consumer from faulty or defective products,
or products that are not as safe as they are generally expected to be. Consumers are legally entitled to
goods of a satisfactory quality. Producers, suppliers and importers are liable for - that is, responsible for -
the products they sell. Death, personal injury - involving physical damage to a person - and damage to
private property are covered under the act.

Enforcement of the act - that is, making sure the act is respected - is the job of the trading standards
officer. Businesses need to monitor and control their produce to make sure they are fulfilling, or carrying
out, all safety regulations.

A central part of the law is product liability, which means that any person who is injured or
physically hurt by a defective product does not have to prove a manufacturer negligent - that is, at fault -
before suing, or taking the manufacturer to court.

Exercise 64. Answer the questions.

1.What is WIPO? 2. When was the "Convention Establishing the World Intellectual Property
Organization» signed and when did it enter into force? 3. Give the definition of the term “intellectual
property”. 4. What is intellectual property divided into? 5. What does industrial property include? 6.
What does copyright protect? 7. What does copyright protected work include? 8. What is the mission of
WIPO? 9. What is WIPQ's cooperation for development program closely interwoven with? 10. What is
the difference between counterfeiting and piracy? 11. When may a company file a lawsuit? 12. What do
most company websites include? 13. What is one of the most significant present-day tasks of WIPO? 14.
Why do some critics give intellectual property a brush-off? 15. What is the Consumer Protection Act? 16.
What is the job of the trading standards officer?

Exercise 65. Give Ukrainian equivalents:

to be signed; to enter into force; the origins go back to 1883; granted patent; copyright protected
work; to complete a registration process; intellectual property (IP) crimes; to make unauthorized use;
trademark infringement and piracy; to brake the copyright; to lead to a lawsuit; to pay damages or
compensation; software patents; enforcement of the act; copyright holder.

Exercise 66. Give English equivalents:

iHTENeKTyalibHa BIIACHICTh; BcecBiTHA opraHizalis iHTeNeKTya bHOI BIACHOCTI; BUHAXIA; Ha/laBaTH
eKCKJIIO3MBHE IIPaBO; HAJaBaTH 3axXUCT MAaTEHTHUX IpaB; IMOJOBXYBAaTH CTPOK NATEHTY; 3axXHUILATH
MOpaJibHi Ta MaTepiaibHi iHTEpecH BUHAXiJIHUKA; JO3BUI BJIACHHKAa ABTOPCHKHUX IpaB; MDKHApOIHA
CHIBIpallsl; Mali Ta cepenHi MmanpueMcTBa; OpakoBaHa Ta HESKICHA MPOMYKIis;, IOPUAUNYHO MATH IIPABO


http://en.wikipedia.org/wiki/Free_culture_movement
http://en.wikipedia.org/wiki/Intellectual_protectionism
http://en.wikipedia.org/wiki/Copyright_extension
http://en.wikipedia.org/wiki/Software_patents
http://en.wikipedia.org/wiki/Business_method_patents
http://en.wikipedia.org/wiki/Software_patents

HAa; BiJIOBIJAJIbHICTh 3a SKICTh MPOIYKTY.
Exercise 67. Make sentences using one part from each column.

1. Patent must read and agree to | renewed regularly.
the terms
2.Willful protection  gives a | toa lawsuit.
trademark company the exclusive
3. A granted copyright cannot be used | right to market a
without product.
4.Visitors to the | patent must be permission.
website
5. Material that is | infringement may lead and conditions.
subject to

Exercise 68. Complete the newspaper report with the words in the box. and then match the
problems (a-c) with the offered solutions (I-111).
personal damage | entitled
standards | product | enforcement
Fight for Your Rights When a Deal Goes Wrong

satisfactory

Which? answers:

Stores do their best to part us | I) As you did not buy the

from our cash, but they are not
always as friendly if a (1)... is
defective. We have teamed up with
consumer to offer some help.

a) The iron bought was faulty and |
was given a replacement, but that
also stopped working after a week.
The shop has refused to exchange it,
saying the second iron was a gift. Is
this correct?

machine yourself, you have to
contract with the shop. But you
can claim against the
manufacturer under the
Consumer Protection Act 1987
for (2)... to your house and any
(3)... injury. Your parents,
however, can claim for the
machine from the retailer.

b) My parents bought us a washing
machine as a present but it exploded
when we were out. The smoke and
fire damage is extensive. Who is
responsible for this?

I1) Try contacting the trading
4)... officer.  He/she is
responsible for (5)... of the
Consumer Protection.

c) | have written many letters to a
local supermarket after having

IIT) No, you are legally (6)... to
goods of a (7)... quality.

found bits of glass in their fresh
fruit. I still don't have a satisfactory
response.

Exercise 69. Translate the sentences into English.

1. ,KouBeHmis mpo 3acHyBaHHA BcecBiTHROI opranizaiii iHTeneKkTyalbHOI BIIacHOCTI” Oyia
mignucana y Ctokronemi y 1967 1 HaOGymna unaHOCTi Y 1970. 2. Buaanuit mateHT Haa€ MAaTeHTHUN 3aXHUCT
mpotsirom 20 pokiB. 3. Micis BcecBiTHROI opraHizallii iHTEIEKTyalbHOI BIIACHOCTI — CIPHUSATH 4Yepe3
MDKHApOJIHY CIIBIPAII0 CTBOPEHHIO, PO3NOBCIO/DKEHHIO, BUKOPHCTAHHIO Ta 3aXUCTy IHTENEKTYaJbHOT
BJIACHOCTI 3apajii €KOHOMIYHOI'0, KYJIBTYPHOI'O Ta COLIaJbHOIO Mporpecy Bchoro Jiojactea. 4. IIpaBosi
npoOJieMH MOXKYTh BUHHKHYTH Y pa3i, SIKIIO iHIIA JIFOAMHA BUKOPUCTaIa POOOTY, 3aXHUILEHY aBTOPCHKHM
npaBoM, Oe3 o3Bonmy BiacHHKa. 5. IlopymiHMK aBTOPCHKOTO IpaBa IMOBUHEH CIUIATHTH 30UTKH Ta
KOMIICHCAIIl0 BJIACHUKY aBTOPCHKOro TmpaBa. 6. BupOOHHMKH, TOCTa4aJbHUKH Ta IMIOPTEPU
BiJINOBiIaJIbHI 32 MMPOJYKT, IKUH BOHU TTPOIAIOTh.

Exercise 70. Learn the following words and word combinations.
marketing environment - MapKEeTHHIOBE CEPEeOBHUIIE
perspective - Teopis; KOHLEIis
supplier - TOCTayaJIbHUK



machinery

management department
research department
development department

purchasing department
operations department

accounting department
intermediary

reseller

impact

financial publics
hinder

obtain funds
level of credit
media publics

editorial

government publics
legislation
citizen-action publics
environmental group

minority group
public spotlight
local public
neighbourhood and
community
organizations
general public
internal public

BUPOOHMYE 00IaIHAHHS
YIPaBIiHCHKUH BiIILIT
iH(hOpMaIiiTHO-aHATITUYHAN BiJJILT
JIOCITITHUI[LKO-KOHCTPYKTOPChKU T
BT

BIJUIUT MaTepiaJIbHO-TEXHIYHOT'O
3a0e3meueHHs
orepariinauii
eKCIUTyaTarii
OyxranTepist
MOCEPEITHUK

BiIiaT; BT

nocepenHuk (Gipma, 1o
CICIIAJII3yEThCS HA ONTOBHMX MOCTaBKaX
Ta TOPrOBOMY TIOCEPEAHHUIITBI)

BIIJINUB

(inancoBi kona

3aBaXkKaTH

3aJIy4aTy KOIITH

piBEHB AOBipH
KOHTAKTHa
iHpopMarii
HACTaHOBYA TeJienporpama
JIep’)KaBHUI CEKTOP
3aKOHOZIABCTBO

TPOMAJICHKI TPYIH BILTUBY
,,3€TIeH1”’; rpymna
HABKOJIMITHHOTO CEPEIOBHUIIA
HaIl[lOHAJTbHA MEHIIINHA
LIEHTP TPOMAJICHKO1 yBaru
MICIIeBa CIIIFHOTA

MICIIeBi Ta TPOMAJICHKI OpraHizamii

ayIuTopis 3aco0iB

3aXHUCTy

ITUPOKA TPOMAJICHKICTh
MTaTHUHN Iepcora GipMu

Exercise 71. Read, translate and give the gist of text 9.

Text 9. Microenvironment

The market environment is a marketing term and refers to all of the forces outside of marketing that
affect marketing management’s ability to build and maintain successful relationships with target
customers. The market environment consists of both the macro-environment and the microenvironment.

The microenvironment influences the organization directly. Micro tends to suggest small, but this
can be misleading. In this context, micro describes the relationship between firms and the driving forces
that control this relationship. It is a more local relationship, and the firm may exercise a degree of
influence. It includes the company itself, its suppliers, marketing intermediaries, customer markets,
competitors, and publics.

The company aspect of microenvironment refers to the internal environment of the company. This
includes all departments, such as management, finance, research and development, purchasing, operations
and accounting. Each of these departments has an impact on marketing decisions. For example, research
and development have input as to the features a product can perform and accounting approves the
financial side of marketing plans and budgets.

The suppliers of a company are also an important aspect of the microenvironment because even the
slightest delay in receiving supplies can result in customer dissatisfaction. Marketing managers must
watch supply availability and other trends dealing with suppliers to ensure that product will be delivered
to customers in the time frame required in order to maintain a strong customer relationship.


http://en.wikipedia.org/wiki/Marketing

Marketing intermediaries refer to resellers, physical distribution firms, marketing services agencies,
and financial intermediaries. These are the people that help the company promote, sell, and distribute its
products to final buyers. Resellers are those that hold and sell the company’s product.

Physical distribution firms are places such as warehouses that store and transport the company’s
product from its origin to its destination. Marketing services agencies are companies that offer services
such as conducting marketing research, advertising, and consulting. Financial intermediaries are
institutions such as banks, credit companies and insurance companies.

Another aspect of microenvironment is the customers. There are different types of customer
markets including consumer markets, business markets, government markets, international markets, and
reseller markets. The consumer market is made up of individuals who buy goods and services for their
own personal use or use in their household. Business markets include those that buy goods and services
for use in producing their own products to sell. This is different from the reseller market which includes
businesses that purchase goods to resell as is for a profit. These are the same companies mentioned as
market intermediaries. The government market consists of government agencies that buy goods to
produce public services or transfer goods to others who need them. International markets include buyers
in other countries and includes customers from the previous categories.

Competitors are also a factor in the microenvironment and include companies with similar offerings
for goods and services. To remain competitive a company must consider who their biggest competitors
are while considering its own size and position in the industry. The company should develop a strategic
advantage over their competitors.

The final aspect of the microenvironment is publics, which is any group that has an interest in or
impact on the organization’s ability to meet its goals. For example, financial publics can hinder a
company’s ability to obtain funds and affect the level of credit a company has. Media publics include
newspapers and magazines that can publish articles of interest regarding the company and editorials that
may influence customers’ opinions. Government publics can affect the company by passing legislation
and laws that put restrictions on the company’s actions. Citizen-action publics include environmental
groups and minority groups and can question the actions of a company and put them in the public
spotlight. Local publics are neighbourhood and community organizations and will also question a
company’s impact on the local area and the level of responsibility of their actions. The general public can
affect the company as any change in their attitude, whether positive or negative, can cause sales to go up
or down because the general public is often the company’s customer base. And finally, the internal
publics include all those who are employed within the company and deal with the organization and
construction of the company’s product.

Exercise 72. Answer the questions.

1. What does the market environment refer to? What are its elements? 2. What is microenvironment
and what company departments does it include? 3. Why are the suppliers of a company an important
aspect of the microenvironment? 4. What are marketing intermediaries? 5. What is the difference between
resellers, physical distribution firms, marketing services agencies, and financial intermediaries? 6. What
are the types of customer markets? Describe each of them. 7. What are competitors? 8. What is the final
aspect of the microenvironment? What groups does it include?

Exercise 73. Match the terms to their definitions.

1. supplier a) those that hold and sell the company’s
product
2. reseller b) places such as warehouses that store

and transport the company’s product
from its origin to its destination
3. marketing interme-  ¢) companies with similar offerings for

diaries goods and services
4, physical d) any group that has an interest in or
distribution firms impact on the organization’s ability to

meet its goals
5. marketing services e) resellers, physical distribution firms,
agency marketing  services agencies, and
financial intermediaries



6. financial f) a company which supplies products or

intermediaries services to another company

7. consumer market g) institutions such as banks, credit
companies and insurance companies

8. competitors h) internal environment of the company
9. publics i) companies that offer services such as
conducting marketing research,

advertising, and consulting

10. company aspect j) individuals who buy goods and
services for their own personal use or use
in their household

Exercise 74. Give Ukrainian equivalents:

target customers; to influence the organization directly; research department; accounting
department; to have an impact on marketing decisions; to result in customer dissatisfaction; to promote,
sell, and distribute product; international market; market intermediary; to remain competitive; level of
credit; to put restrictions on the company’s actions; neighbourhood and community organizations.

Exercise 75 .Give English equivalents:

OyJyBaTu Ta MIATPUMYBAaTH CTOCYHKH; PYIIifiHA CHJIa; MAPKETUHTOBHI MOCEPEIHUK; KOHKYPEHT;
YIPaBIiHCHKUH BIUILI; BIZJILT MaTepialbHO-TEXHIUHOrO 3a0e3eUueHHs; MAPKETUHIOBE areHTCTBO; CKJIA/I;
MEPEBO3UTH TPOAYKT BiJl MICILs IMOXOHKCHHS 10 MICLs NMPU3HAYEHHS; PUHOK KITIEHTIB; CIOXHUBUYMIMA
PHHOK; JIep>KaBHUH PHHOK; JAOCATATH IIiiel; (piHAHCOBI KOJIa; KOHTAKTHA ayUTOopis 3aco0iB iH(popMallii;
iKaBi CTaTTI.

Exercise 76. Put questions on the underlined words.

1. The microenvironment influences the organization directly. 2. Marketing intermediaries refer to
resellers, physical distribution firms, marketing services agencies, and financial intermediaries. 3. Citizen-
action publics include environmental groups and minority groups. 4. The company should develop a
strategic advantage over their competitors. 5. The market environment consists of both the
macroenvironment and the microenvironment.

Exercise 77. Learn the following words and word combinations.

baby boomer - 0e0i-0ymep (auTHHA, 10 HAPOIAMUITACST
i 9ac MCIIBOEHHOTO JeMOorpadidaHoro Exercise  78. Read,
BHOYXY) translate and give the gist of text
purchasing power - KyIiBenbHa CIIPOMOXKHICTh 10.
raw materials - CHpOBHHA
intervention - BTpYYaHHS Text 10. Macro environment
surgery - Xipypris The macro environment
nuclear missiles - SIIEpHi paKkeTu refers to all forces that are part
update - IIOHOBJIIOBATH of the larger society and affect
restriction - OOMEXEeHHS the  microenvironment. It
subliminal message - 3BepHeHHH, CIIPSIMOBAHE Ha includes concepts such as
ITiZCBiIOMICTE demography, economy, natural
core beliefs - OCHOBHI TIEpEKOHAHHSI forces, technology, politics, and
secondary beliefs - BTOPHHHI IEPEKOHAHHS culture.

Demography refers to
studying human populations in terms of size, density, location, age, gender, race, and occupation. This is
a very important factor to study for marketers and helps to divide the population into market segments
and target markets. An example of demography is classifying groups of people according to the year they
were born. These classifications can be referred to as baby boomers, who are born between 1946 and
1964, generation X, who are born between 1965 and 1976, and generation Y, who are born between 1977
and 1994. Each classification has different characteristics. This can be beneficial to a marketer as they can
decide who their product would benefit most and tailor their marketing plan to attract that segment.
Demography covers many aspects that are important to marketers including family dynamics, geographic
shifts, and work force changes in any given area.



Another aspect of the macro-environment is the economic environment. This refers to the
purchasing power of potential customers and the ways in which people spend their money.

The natural environment is another important factor of the macro-environment. This includes the
natural resources that a company uses. The concern in this area is the increased pollution, shortages of
raw materials and increased governmental intervention. As raw materials become scarcer, the ability to
create a company’s product gets much harder. Also, pollution can negatively affect a company’s
reputation if a company is known for damaging the environment. The last concern, government
intervention can make it increasingly harder for a company to fulfil their goals as requirements get
stricter.

The technological environment is perhaps one of the fastest changing factors in the macro-
environment. This includes all developments from antibiotics and surgery to nuclear missiles and
chemical weapons to automobiles and credit cards. As these markets develop it can create new markets
and new uses for products. It also requires a company to update their own technology as it becomes
outdated.

The political environment includes all laws, government agencies, and groups that influence or
limit other organizations and individuals within a society. It is important for marketers to be aware of
these restrictions as they can be complex. Some products are regulated by both state and federal laws.
There are even restrictions for some products as to who the target market may be, for example, cigarettes
should not be marketed to younger children. There are also many restrictions on subliminal messages and
monopolies. As laws and regulations change often, this is a very important aspect for a marketer to
monitor.

The final aspect of the macro-environment is the cultural environment, which consists of basic
values and beliefs of a group of people. The values can also be further categorized into core beliefs,
which passed on from generation to generation and very difficult to change, and secondary beliefs, which
tend to be easier to influence. As a marketer, it is important to know the difference between the two and
to focus your marketing campaign to reflect the values of a target audience.

Exercise 79. Answer the questions.

1.What does the market environment refer to? What concepts does it include? 2. What is
demography? Give examples of demography. 3. What is economic environment? 4. What does natural
environment involve and what is the concern in this area? 5. What are the fastest changing factors in the
macro-environment? What developments does it include? 6. What are the constituents of political
environment? 7. What is cultural environment?

Exercise 80. Give Ukrainian equivalents:
gender; shortages of raw materials; become scarcer; to fulfil the goals; restrictions on subliminal
messages and monopolies; marketer; to reflect the values of a target audience.

Exercise 81. Give English equivalents:
KyIiBeIbHAa CIPOMOXHICTh; JepKaBHE BTpPy4YaHHS; YCBIJIOMIIIOBAaTH, OCHOBHI TI€pEKOHAHHS,
reorpadiyai mepeMinieHHs.

Exercise 82. Match market segments divided according to age groups to their definitions.
1) the silver market a) born after Generation X

2) baby boomers b) born after baby boomers
3) Generation X c) twenty to twenty-nine years old
4) Generation Y d) eight to twelve years old
5) Generation Z e) born between 1946-1964
6) twentysomethings  f) thirteen to nineteen years old
7) teens g) seniors over 70 years old
8) tweens h) born between the mid-1990s and

the late 2000s

Exercise 83. Learn the following words and word combinations.
solicitor - aJBOKaT
tax preparation services -  mOCIyrH i3 po3paxyHKY IOJIaTKiB
tangible - MaTepiagbHHUHA
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durable product - TOBapW TPUBAJIOTO TEPMIHY

BUKOPHCTAHHS

shopping habit - KyMiBeNbHI 3BUYKH

convenience products - TOBapH MOBCSKICHHOTO BKUTKY

shopping products - TOBapH IMONEPETHHOTO BUOOPY

specialty products - TOBapH OCOOIMBOTO MOMUTY

unsought product - TOBapd NACUBHOro momuTy (Tpo
KYIIBJIIO SIKMX 3a3BHYail HE TyMarOTh)

staples - HaWBaXJMBIII TOBapW; NpPEAMETH
nepIioi HeoOXiqHOCTI

impulse goods - TOBapH IMIyJIbCUBHOTO MPUAOAHHS

emergency goods - TOBapH JUIsl GKCTPCHUX BUITAJIKIB

household appliances - mobyToBa TeXHIiKa

brand identification - ijmeHTHIKaILlis TOProBOT MapKu

luxury goods - OpeaMeTH PO3KOIIi

life insurance - CTpaxyBaHHS JXKUTTS

home security systems - JIOMAIITHS CHCTeMa Oe3MeKH

blood donation - JIOHOPCTBO KpPOBI

Exercise 84. Read, translate and give the gist of text 11.

Text 11. Product-classification. Consumer products

Pair of Adidas trainers, a Volvo truck, a Nokia mobile telephone, a haircut, a concert, a EuroDisney
vacation, advice from a solicitor and tax preparation services are all products. We define a product as
anything that is offered to a market for attention, acquisition, use or consumption and that might satisfy a
want or need. Products include more than just tangible goods. Broadly defined, products include physical
objects, services, persons, places, organizations or ideas.

Services are products that consist of activities, benefits or satisfactions that are offered for sale,
such as haircuts, tax preparation and home repairs. Services are intangible and do not result in the
ownership of anything.

Let us explain several product-classification schemes. Products can be classified according to their
durability and tangibility. Non-durable products are goods that are normally consumed quickly and used
on one or a few usage occasions, such as beer, soap and food products. Durable products are products
used over an extended period of time and normally survive for many years. Examples are refrigerators,
cars and furniture. Services are activities, benefits and satisfactions offered for sale which are essentially
intangible and do not result in the ownership of anything. Examples include haircuts, holiday packages
and banking services. Marketers have also divided products and services into two broad classes based on
the types of customers that use them - consumer products and industrial products.

Consumer products are those bought by final consumers for personal consumption. Marketers
usually classify these goods based on consumer shopping habits. Consumer products include convenience
products, shopping products, specialty products and unsought products. These products differ in the way
consumers buy them, so they differ in how they are marketed.

Convenience products are consumer goods and services that the consumer usually buys frequently,
immediately and with a minimum of comparison and buying effort. They are usually low priced and
widely available. Examples are soap, sweets and newspapers. Convenience goods can be divided further
into staples, impulse goods and emergency goods.

Staples are goods that consumers buy on a regular basis, such as milk, toothpaste or bread. Impulse
goods are purchased with little planning or search effort. These goods are normally available in many
places. Thus chocolate bars and magazines are placed next to checkout counters because shoppers may
not otherwise think of buying them. Emergency products are purchased when a need is urgent - umbrellas
during a rainstorm, or boots and shovels during the year's first snowstorm. Manufacturers of emergency
goods will place them in many outlets to make them readily available when the customer needs them.

Shopping products are less frequently purchased and consumers spend considerable time and effort
gathering information and comparing alternative brands carefully on suitability, quality, price and style.
Examples of shopping products are furniture, clothing, used cars and major household appliances.

Specialty products are consumer goods with unique characteristics or brand identification for which
a significant group of buyers is willing to make a special purchase effort. Examples are specific brands
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and types of car, high-priced photographic equipment, and luxury goods. They invest only the time
needed to reach dealers carrying the wanted products. Although these dealers do not need convenient
locations, they must still let buyers know where to find them.

Unsought products are consumer goods that the consumer either does not know about or knows
about but does not normally think of buying. Most major innovations are unsought until the consumer
becomes aware of them through advertising. Other examples of known but unsought goods are life
insurance, home security systems and blood donations to the Red Cross. By their very nature, unsought
goods require a lot of advertising, personal selling and other marketing efforts.

Exercise 85. Answer the questions.

1.What is a product? 2. How can services be defined? 3. How can products be classified? 4. What is
the difference between durable and non-durable products? 5. What two broad classes have marketers
divided products and services into? 6. What are consumer products? What do consumer products include?
7. What are convenience products? What can convenience products be divided into? 8. What are
definitions of the following terms: “shopping products”, “specialty products” and “unsought products”?

Exercise 86. Give Ukrainian equivalents:

acquisition; non-durable products; ownership; shopping products; emergency goods; to purchase
with little planning or search effort; for personal consumption; to be widely available; to compare
alternative brands on price.

Exercise 87. Give English equivalents:

MaTepiajgbHI TOBapH; TOBAPHU MOBCAKICHHOTO BXXKUTKY; TOBAPH IMITYJbCUBHOTO MPUAOAHHS; 3pyIHE
PO3MIIIIEHHS; CTPaxXyBaHHsI KHUTTS; CTPOK BUKOPUCTAHHS; TIOCIYTH 13 pO3PaxyHKY MOJIATKIB.

Exercise 88. Read and learn word combinations with 'goods' and 'products'.

convenience goods / = products with a high turnover and
fast moving consumer relatively low price, such as table salt or
goods shampoo

white goods = major household electrical goods which

are usually white, such as freezers, washing
machines and dishwashers

brown goods =major household electrical goods that are
not usually white, such as camcorders,
televisions and DVD players

perishable goods = goods that have a limited shelf life and
must be consumed relatively quickly, such
as fresh fruit, fresh meat and eggs

durable / hard goods = goods that last for a long time - they
cannot be easily worn out or used up, such
as cars, furniture and white goods

nondurable / soft = goods that are used up or last for less than

goods three years -for example, perishable goods,
consumable supplies such as CD ROMs, or
ink for a printer

green products = products that are not harmful for the
environment
generic products = products sold without a brand name,

usually in a supermarket or in a pharmacy as
alternatives to brand name drugs

healthcare products = products that are beneficial for your health
and well-being - for example, vitamins and
plasters

Exercise 89. Match the word combinations from Ex.88 with words below.



syringe
TV set
bread

car

washing powder that is not harmful to the environment
ink for printer

washing machine
toilet paper

Exercise 90. Make word combinations with goods and products using the words from the box.

brown

convenience hard healthcare

nondurable

perishable white green

Exercise 91. Learn the following words and word combinations.

conduct a business
capital items

supplies and services

materials and parts
further processing

manufactured materials

timber

crude petroleum
turn over
intermediary
natural product
bulk

unit value
industrial user

yarn

component material
component part

pig iron
installations
accessory equipment

fixed equipment
drill press

lift truck
operating supplies

repair and maintenance

items
lubricant
business services
business

services

advisory

- BECTU CIIpaBy

-3ac00M BUPOOHHUIITBA

- IONIOMDKHI MaTepialin Ta MOCIyru

- MaTepiaiy Ta KOMIUIEKTYI041

- mogasbina o0podka

- HarliB(paOpukaTH

- IepeBHHA

- cupa Ha(Ta

- riepenaBaTu

- TOCEPEHUK

- HATypaJIbHUM TPOTYKT

-Maca; 00’eMm

- BapTICTh OJMHMII TOBAPY

- IPOMHUCIIOBUM CIIOXKMBaY

- BOJIOKHO

- CKJIQZIOBUH MaTepiasr; KOMIOHEHT

- KOMIUTEKTYIOUHiA BHPiO

-4aBYH

- CIIopyIu

- KOMIUTEKTYIo4e ( TOTTOMDKHE )
o0aHaHHS

- BMOHTOBaHe ( cTarfioHapHe )
o0aTHaHHS

- iepdoparop

- aBTOHABAHTAXYBa4

- BUpOOHUYI MaTepianu

-3acobn TexOOCITyTOBYBaHHS Ta
PEMOHTY

- 3MaIllyBaJIbHUI MaTepian

- M JIPUEMHUIIBKI TIOCITYTH

- ciryk0a JiTOBUX KOHCYIIbTAIlil

maintenance services - PEMOHTHI MTOCITyTH

Exercise 92. Read, translate and give the gist of text 2.

Text 12. Industrial Products.
Industrial products are those bought for further processing or for use in conducting a business.
Thus the distinction between a consumer product and an industrial product is based on the purpose for
which the product is purchased. If a consumer buys a lawn mower for home use, the lawn mower is a
consumer product. If the same consumer buys the same lawn mower to use in a landscaping business, the



lawn mower is an industrial product.

There are three groups of industrial product: materials and parts, capital items and supplies and
services.

Materials and parts are industrial goods that become a part of the buyer's product, through further
processing or as components. They include raw materials and manufactured materials and parts.

Raw materials include farm products (wheat, cotton, livestock, fruits, vegetables) and natural
products (fish, timber, crude petroleum, iron ore). Farm products are supplied by many small producers,
which turn them over to marketing intermediaries that process and sell them. Natural products usually
have great bulk and low unit value, and require a lot of transportation to move them from producer to
user. They are supplied by fewer and larger producers, which market them directly to industrial users.

Manufactured materials and parts include component materials (iron, yarn, cement, wires) and
component parts (small motors, tires). Component materials are usually processed further - for example,
pig iron is made into steel, and yarn is woven into cloth. Component parts enter the finished product with
no further change in form, as when Electrolux puts small motors into its vacuum cleaners and Volvo adds
tires to its automobiles. Most manufactured materials and parts are sold directly to industrial users. Price
and service are the most significant marketing factors, and branding and advertising tend to be less
important.

Capital items are industrial products that help in the buyers' production or operations. They include
installations and accessory equipment. Installations consist of buildings (factories, offices) and fixed
equipment (generators, drill presses, large computers, lifts). Because installations are substantial
purchases, they are usually bought directly from the producer after a long decision period. Accessory
equipment includes portable factory equipment and tools (hand tools, lift trucks) and office equipment
(fax machines, desks). These products do not become part of the finished product. They have a shorter
life than installations and simply aid in the production process. Most sellers of accessory equipment use
intermediaries because the market is spread out geographically, the buyers are humerous and the orders
are small.

Supplies and services are industrial products that do not enter the finished product at all. Supplies
include operating supplies (lubricants, coal, computer paper, pencils) and repair and maintenance items
(paint, nails, brooms). Supplies are the convenience goods of the industrial field because they are usually
purchased with a minimum of effort or comparison. Business services include maintenance and repair
services (window cleaning, computer repair) and business advisory services (legal, management
consulting, advertising). These services are usually supplied under contract. Maintenance services are
often provided by small producers, and repair services are often available from the manufacturers of the
original equipment.

Exercise 93. Answer the questions.

1. What is industrial product? 2. What are the groups of industrial products? 3. What are materials
and parts and what do they include? 4. What do raw materials consist of? 5. What do component
materials and component parts have in common and what makes them different? 6. What are capital items
and what do they include? 7. What is the function of accessory equipment? 8. What are constituents of
supplies and services?

Exercise 94. Give Ukrainian equivalents:
further processing; materials and parts; have great bulk; vacuum cleaner; branding and advertising;
finished product; lubricant; maintenance services; to supply under contract.

Exercise 95. Give English equivalents:

KOMepIliiHa TiSUTBHICTh 3 OJIarOyCTPOI0 TEPUTOPIi; HOTOMDKHI MaTepiali Ta MOCIYTH; CUPOBUHA;
HU3bKa BapTICTh OJMHUII TOBapy; KOMILUIEKTYIOUMH BHpiO; MOpTATUBHE 3aBOJICHKE OONaJHAHHS; Py4Hi
IHCTPYMEHTH; JIOTIOMDKHI MaTepiaii Ta MOCIYTH; MIOCITYTH 3 YIIPaBITiHHS.

Exercise 96. Match the groups of industrial product with the words below.
1. Component parts

2. Farm products

3. Buildings

4. Natural products

5. Fixed equipment



6. Tools

7. Office equipment

8. Operating supplies

9. Maintenance items

10. Maintenance and repair services

11. Advisory services

Wheat, offices, generators, desks, window cleaning, iron, fruits, vegetables, tires, factories, crude
petroleum, paint, cotton, hand tools, iron ore, wires, nails, drill presses, large computers, lifts,
advertising, lift trucks, fax machines, cement, lubricants, livestock, timber, computer paper, small
motors, pencils, brooms, yarn, management consulting, fish, computer repair.

Exercise 97. Learn the following words and word combinations.
Product Life Cycle (PLC) - »uTT€BHii IIUKI TOBApy

introduction - BHXIiJ TOBapy ( Ha PHHOK)

growth - PO3BHUTOK; 3pOCTaHHS]

maturity - 3pUIICTH; BUCOKUH PIBEHb PO3BUTKY
decline - MajiHHA; 3aHenaj

devise - po3pobJsiTH

planning tool - 3acib MmIaHyBaHHs

allocate money - pO3MOJISTH Tpoti

relative market share - BIIHOCHA JIOJISI HA PUHKY

market growth rate - TIOKa3HHK PUHKOBOT'O POCTY

plot against - BU3HAYATH B 3AJIEKHOCTI BiJl
product launch - BHITYCK HOBOT'O MIPOJYKTY

consume resources - CIIOKMBaTH pECypCH

profitable - IpuOyTKOBU

saturated market - HACHYEHHI PUHOK

cash flow - TIOTIK TOTIBKH

cash cow - rpoloBa Koposa ( ToBap, 1[0 MPUHOCUTH

BEJIMKI TPOIIOB] HAIXOKCHHS)
Exercise 98. Read, translate and give the gist of text 13.

Text 13. Product Life Cycle

The Product Life Cycle (PLC) is based upon the biological life cycle. For example, a seed is planted
(introduction); it begins to sprout (growth); it shoots out leaves and puts down roots as it becomes an
adult (maturity); after a long period as an adult the plant begins to shrink and die out (decline).In theory
it's the same for a product. After a period of development it is introduced or launched into the market; it
gains more and more customers as it grows; eventually the market stabilises and the product becomes
mature; then after a period of time the product is overtaken by development and the introduction of
superior competitors, it goes into decline and is eventually withdrawn.

The Boston Consulting Group Matrix was devised in the 1970s as a planning tool for marketers to
help them analyze their product lines and decide where to allocate money. Market growth rate, the speed
at which the market is expanding, is plotted against relative market share - the percentage of consumers in
the market that buy your service or product. Products or services have either high or low market growth
rates or relative market shares. In the Matrix, products or services are divided into four different types.
They relate to four stages in the product life cycle (PLC).

3 —

== 2 |Stars Problem children
@ 2

Q 2
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Product Launch: Problem children are products or services that are not yet established, or well
known, in the market. They will consume resources - for example, time or money - before giving a return
on investment (ROI). This introduction stage is characterized by high costs, slow sales volumes, little or
no competition. In some cases these products or services may never be profitable - make the company
money - especially if they are in a slow-growing business sector or a saturated market, such as diet drinks
or the mobile phone market.

Growth: Stars have both high market growth rate and high relative market share. These products or
services are probable in a fast-growing business sector. They generate high cash flows, but are not always
profitable. Profitability depends on the amount invested in the star.

Maturity: Cash cows have high relative market share, but little market growth. They are products or
services that consumers know, trust and consume. They generate profit as they don't need much
investment. They can be used to feed research and development for other products

Decline: Dogs are products or services that have low relative market share and low market growth.
They consume resources and do not create profit. They may generate a negative cash flow - that is, they
make a loss. The best course of action is to raise prices to maximize income, known as harvesting, before
finally dropping the line - taking the product or service off the market.

How do companies decide what to sell? There are four paths:

1. Selling something that already exists.

2. Making something that someone asks for.

3. Anticipating something that someone will ask for.

4. Making  something that no one asked for but that  will give
buyers great delight.

The last path involves much higher risk but the chance of much higher gain.

Exercise 99. Answer the questions.

1. Why is the Product Life Cycle (PLC) compared with the biological life cycle? 2. What was the
Boston Consulting Group Matrix devised for? 3. How many types are products or services divided into in
the Matrix? 4. What are the stages and their characteristics? 5. What are four paths for companies to
decide what to sell?

Exercise 100. Give Ukrainian equivalents:

biological life cycle; to sprout; to shoot out leaves; to shrink; to launch into the market; superior
competitor; percentage of consumers; little or no competition; to raise prices; to maximize income;
harvesting; to allocate money; maturity; introduction.

Exercise 101. Give English equivalents:

CTaBaTH JIOPOCIIVM; PO3IIUPIOBATH; KHUTTEBHH IMKII TOBapy; MPHUOYTKOBHIA, MBUAKO 3POCTAIOUNI
KOMEpIIHHUN CEeKTOp; NPUHOCHTH TPHOYTOK, TOBEPHEHHS BiJ I1HBECTHIIiM; CHOXHBATH PECYpPCH;
BiJI’€MHUH TIOTIK TOTIBKHM; MMOKa3HUK PHHKOBOTO POCTY; 3aci0 TUIaHyBaHHS, HACHYEHUI PUHOK.

Exercise 102. Complete the text with the words in the box.

advertising budgets making a loss

consumer tastes reaches saturation
differentiate products similar offerings

early adopters withdrawn from the market

The classic product life cycle is Introduction, Growth, Maturity and Decline. In the Introduction
stage the product is promoted to create awareness. It has low sales and will still be (1) ... If the product
has few competitors, a skimming price strategy can be used (a high price for (2) ... which is then
gradually lowered). In the Growth phase sales are rising rapidly and profits are high. However,
competitors are attracted to the market with (3) ... The market is characterized by alliances, joint ventures
and takeovers. (4)... are large and focus on building the brand. In the Maturity phase sales growth slows
and then stabilizes. Producers attempt to (5) and brands are key to this. Price wars and competition occur
as the market (6) ... In the Decline phase there is a downturn in the market. The product is starting to look
old-fashioned or (7) ... have changed. There is intense price-cutting and many products are (8) ...

Exercise 103. Complete the sentences with proper prepositions.
1. The Boston Consulting Group Matrix was devised ... the 1970s as a planning tool ... marketers



to help them analyze their product lines and decide where to allocate money. 2. The Product Life Cycle
(PLC) is based ... the biological life cycle. 3. ... some cases these products or services may never be
profitable. 4. The best course ... action is to raise prices to maximize income, known as harvesting, ...
finally dropping the line - taking the product or service ... the market. 5. This introduction stage is
characterized ... high costs, slow sales volumes, little or no competition. 6. They will consume resources
- ... example, time Or money - ... giving a return ... investment (ROI).

Exercise 112. Learn the following words and word combinations.

local utility - MICIIeBI KOMYHAIIbHE MiIPHEMCTBO
interest - BIZICOTOK

guest lecturer - 3aMpOIICHUIT JEKTOP
government official - Jep’KaBHUH CITyKOOBEIlb

take a bribe - Opatu xabap

shady character - mimo3pina ocoba

retainer - TomnepeHiii roHopap

bargain - TOpryBaTHUCS

commodity product -

produce revenue - TIPMHOCHTH HPUOYTOK

fixed costs - TOCTIifHI BUTPATH

variable costs - 3MiHHI BUTpaTH

pure competition - YKCTa KOHKYPEHIIist

produce good revenue - TPUHOCHTH XOPOIIH J0Xi/
yield a 'fair return’ - TPUHOCHUTHU XOPOUIHU MPUOYTOK

Exercise 113. Read, translate and give the gist of text 15.

Text 15. Price

Price is all around us. You pay rent for your apartment, tuition for your education and fee to your
physician or dentist. The airline, railway, taxi and bus companies charge you a fare; the local utilities call
their price a rate; and the local bank charges you interest for the money you borrow. The guest lecturer
charges an honorarium to tell you about a government official who took a bribe to help a shady character
steal dues collected by a trade association. Clubs or societies to which you belong may make a special
assessment to pay unusual expenses. Your regular lawyer may ask for a retainer to cover her services.
The 'price’ of an executive is a salary, the price of a salesperson may be a commission and the price of a
worker is a wage. Finally, although economists would disagree, many of us feel that income taxes are the
price we pay for the privilege of making money.

In the narrowest sense, price is the amount of money charged for a product or service. More
broadly, price is the sum of all the values that consumers exchange for the benefits of having or using the
product or service.

How are prices set? Historically, prices were usually set by buyers and sellers bargaining with each
other. Sellers would ask for a higher price than they expected to get and buyers would offer less than they
expected to pay. Through bargaining, they would arrive at an acceptable price. Individual buyers paid
different prices for the same products, depending on their needs and bargaining skills.

Historically, price has been the most significant factor affecting buyer’s choice. This is still true in
poorer nations, among poorer groups and with commodity products. However, non-price factors have
become more important in buyer’s choice behavior in recent decades.

Price is the only element in the marketing mix that produces revenue; all other elements represent
costs. Price is also one of the most flexibly elements of the marketing mix. Price can be changed quickly.
At the same time, pricing and price competition is the no.1 problem facing many marketing executives.

The marketer must consider the total marketing mix when setting prices. Costs set the floor for the
price that the company can charge for its product. The company wants to charge a price that both covers
all its costs for producing, distributing, selling the product and produce good revenue. A company's costs
may be an important element in its pricing strategy. Many companies work to become the ‘low-cost
producers' in their industries. Companies with lower costs can set lower prices that result in greater sales
and profits.

TYPES OF COSTS: fixed and variable. Fixed costs (also known as overhead) are costs that do not



vary with production or sales level. For example, a company must pay each month's bills for rent, heat,
interest and executive salaries, whatever the company's output.

Variable costs vary directly with the level of production. Each personal computer produced by
Compag involves a cost of computer chips, wires, plastic, packaging and other inputs. These costs tend to
be the same for each unit produced. They arc called variable because their total varies with the number of
units produced.

There are some external factors that affect pricing decisions. They include the nature of the market
and demand, competition and other environmental elements. The seller's pricing freedom varies with
different types of market:

1) Pure competition is a market in which there are many potential and actual buyers and sellers,
each being too small to be an individual influence on the price; there are no barriers to entry or exit; and
the products being traded are identical (e.g. salt, milk). At the same time, the producers are seeking the
maximum profit and consumers the best value for money.

2) Monopolistic competition is a market in which there are many producers and many consumers
in a given market, and no business has total control over the market price. Consumers perceive that there
are non-price differences among the competitors' products. There are few barriers to entry and exit.
Producers have a degree of control over price. The characteristics of a monopolistically competitive
market are almost the same as in pure competition, with the exception of heterogeneous products, and
that monopolistic competition involves a great deal of non-price competition (the physical product can be
varied in quality, features or style, or the accompanying services can be varied).

3) Under oligopolistic competition, the market consists of a few sellers that are highly sensitive to
each other's pricing and marketing strategies. The product can be uniform (steel, aluminium) or non-
uniform (cars, computers). There are few-sellers because it is difficult for new sellers to enter the market.

4) In a pure monopoly, the market consists of one seller. The seller may be a government
monopoly (a Postal Service), a private regulated monopoly (a power company) or a private non-regulated
monopoly (Microsoft with DOS and Windows). Pricing is handled differently in each ease. A government
monopoly can have a variety of pricing objectives. It might set a price below cost because the product is
important to buyers who cannot afford to pay full cost. Or the price might be set either to cover costs or to
produce good revenue. It can even be set quite high to slow down consumption. In a regulated monopoly,
the government permits the company to set rates that will yield a 'fair return’, one that will let the
company maintain and expand its operations as needed. Non-regulated monopolies are free to price at
what the market will bear. However, they do not always charge the full price for a number of reasons: for
example, a desire not to attract competition, a desire to penetrate the market faster with a low price, or a
fear of government regulation.

Exercise 114. Answer the questions.

1. Why is price all around us? 2. What is price? 3. How were prices historically set? 4. What
differentiates price from other elements in the marketing mix? 5. Why may a company's costs be an
important element in its pricing strategy? 6. What are two forms of a company's costs? 7. What are
external factors that affect pricing decisions? 8. What is pure competition? 9. What are characteristics of
monopolistic competition? 10. What is oligopolistic competition? 11. What are the types of a pure
monopoly?

Exercise 115. Give Ukrainian equivalents:

to charge a fare; fee; rate; honorarium; government official; to steal dues; to pay unusual expenses;
salary; wage; salesperson; to make money; to set a price; to arrive at an acceptable price; to affect buyer’s
choice; non-price factors; to produce revenue; pure competition; to seek the maximum profit; barriers to
entry and exit; to have a degree of control over price; to enter the market; oligopolistic competition;
pricing objectives; to afford to pay full cost; to cover costs.

Exercise 116. Give English equivalents:

IUIaTa 33 HaBYAHHS; MICIIeBE KOMYHAJIbHE IMIANPUEMCTBO; HAPaXOBYBATH BIJCOTKH; 3aIlpOLICHHI
neKTop; OpaT xabap; migo3pisa ocoda; BHECOK; MONEPENHi TOHOpap; KOMICiiiHi; MOAATOK Ha MPUOYTOK;
TOPTYBATHCS; IPOTATOM OCTAHHIX AECSTUIIITh; BUPOOHUK 3 HU3bKUMH BUTpPAaTaMH BUPOOHHUIITBA; TOCTiHHI
BHUTpAaTH, 3MiHHI BUTpPaTH; IONUT, HAWKpalle CIBBIIHOMIEHHS I[IHM Ta SIKOCTi; MOHOIOJIICTUYHA
KOHKYPEHLisl; TeTepOoreHHi (HeOJHOPiH1) ToBapH; OyTH Pi3HUM 3a SKICTIO; BCTAHOBIIIOBATH LiHY HUXKUY
3a co01BapTiCTh; MPUHOCUTHU TapHUM MPUOYTOK.


http://en.wikipedia.org/wiki/Barriers_to_entry
http://en.wikipedia.org/wiki/Barriers_to_entry
http://en.wikipedia.org/wiki/Barriers_to_entry

Exercise 117. Match the marketing terms to their definitions.

1. competitor

2. variable costs

3. oligopolistic
competition

4. supply
5. financing

6. pure
competition

7. demand

8. pure monopoly

9. fixed costs

a) any organisation that offers the same, a
similar, or a substitute product or service in the
field of endeavour in which a company operates
b) the ability and desire to purchase goods and
services

c) a market in which one company has control
over the entire market for a product, usually
because of a barrier to entry such as a
technology only available to that company

d) offering goods and services for sale

e) business expenses that are not dependent on
the activities of the business and capital

f) business expenses that change in proportion
to the activity of a business

g) the commercial activity of providing funds

i) a market form in which a market or industry
is dominated by a small number of sellers

J) a market characterized by a large number of
independent sellers of standardized products,
free flow of information, and free entry and exit.
Each seller is a "price taker" rather than a "price
maker"

Exercise 118. Complete the sentences.
1. Fixed costs (also known as overhead) are costs that ...
2. Monopolistic competition is a market in which ...
3. In a pure monopoly, the market consists of ...
4. Under oligopolistic competition, the market consists of ...
5. In the narrowest sense, price is ...
6. Variable costs vary directly with ...


http://www.investorwords.com/2962/market.html
http://www.investorwords.com/992/company.html
http://www.businessdictionary.com/definition/control.html
http://www.investorwords.com/3874/product.html
http://www.businessdictionary.com/definition/technology.html
http://en.wikipedia.org/wiki/Expenses
http://en.wikipedia.org/wiki/Market_form
http://en.wikipedia.org/wiki/Market
http://en.wikipedia.org/wiki/Industry
http://www.investorwords.com/2962/market.html
http://www.investorwords.com/3874/product.html
http://www.businessdictionary.com/definition/free.html
http://www.businessdictionary.com/definition/flow.html
http://www.businessdictionary.com/definition/information.html
http://www.businessdictionary.com/definition/entry.html
http://www.investorwords.com/1834/exit.html
http://www.businessdictionary.com/definition/seller.html

